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Time : 3 Hours A Marks : 200
Instructions :

(i) Each question carries one mark.
(28 (D% =8 Hordy Sode.

(i1)) Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen the corresponding digit 1, 2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.

BHd aVYS (D8 (D adg &S ¢35t DO TS DIrEedB0ndy D)8V &7
2r00W @oB 1, 2, 3 B8 4 T ad)d OMR Jrerd H(E00S° (9418 Do 040DS
Sowg o D8 /el wrd rowod D) GHBVrA0D JoDB T,

1. What least number must be added to 2000 to get a number exactly divisible by 19 ?

2000 Howgs D ©d DI Dopgdo EODIS HWoy Dopg 19 T& JFyddom
A oS Bodo?

(1) 14 2) 5 3 1 4) 3

2. A DWACRA woman wants to make candles out of a wax block of dimensions 60 cm,
35 c¢m, and 22 cms. The number of cylindrical candles that can be made with diameter
7 cms and height 4 cms is (Take © = 22/7)
I @g(s° 398 60 %00.03, 35 %00.00 H00050 22 0.0 t%zél Eo:é&éao@s §’°5°Se§_%®o
Boﬁ?g@éo?é;&, 7 200.000 mgééw $08050 4 %00.d0e o)é_ooés S 0380 50505€§©ﬂ26
PrFrsER) T e Doy (M= 22/79d 808048 )
(1) 75 (2) 150 (3) 300 (4) 400

3. Find the greatest of the following numbers
& (808 Yooaag@ej”s ©8 G Dopg FIH"DoDd®

V5 =3, 7 =+5, o -7, V11 -9
(M 5-43 @) J7-45 3) Jit-+9 @ Jo-7

4. Five bells begin to toll together and they toll at intervals of 6, 5, 7, 10 and 12 seconds
respectively. How many times they toll together in one hour excluding the one at the start ?
5 fobeo B0 (Brido Jodeo DEron. & Hobeoo HEBM 6, 5, 7, 10 LHoodw
12 80g S0 (Brihd. BndEI0 (Bridd BEH) noHore &0, 2 doo
DH005008° 8D @) AANF OV (Brde?

(1) 7 2) 8 3) 9 4) 10
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5. In a mixture of milk and water of 40 litres water is 5%. The amount of water (in litres) to
be added to this mixture so as to make water 10% is
Joe0, éf)@;’o@) O 40 S0 MFH08° & 5%. I8 o 10% oTIhghr @08y
55%50@ s WIFIrA8 Soreod, Foddodd I8 Hosrmo oS

1 1 2 1
(1) 55 () 33 (3) 25 (4) 65

6. The number of integers which are not perfect squares between 16> and 172 is
167 %0050 177 S0y HOUrg $¢dnes 52 drgoso bowpg
(1) 32 (2) 33 (3) 34 (4) 28

7. The difference between the compound interest and simple interest on a certain sum at 10%
per annum for 2 years is Rs. 631. The sum is

(1) Rs. 63,000 (2) Rs. 63,100 (3) Rs. 63,500 (4) Rs. 63,600

§0d By B oI 10% SO pS Tode DodEyoroH iiLézéé 00050 el
Eéc(%@ DG Pdo S, 631. e Jogo JH0y

(1) 8. 63,000 (2) &». 63,1000 (3) &> 63,500  (4) &x. 63,600

8. If an amount of Rs. 80,000/ was kept in a bank for a compound interest at the rate of 10%
per year to get an interest of Rs. 16,800/-, then the amount was in the bank for a period of
(1) 1% years (2) 2 years (3) 2% years (4) 3 years
wdor dr. 80,000/- o w08 10% zﬁ@éé Ten&® &, 16,800 écg? ST ¥
rgoHS” $oNE & wHWDH WrgoHS® “odS SUDHONY
(1) 12 dod&yoren (2) 2 Dodgyoren (3) 2)2 Doddyoren (4) 3 DodEyorew

9. A person gives a loan of Rs. 50,000 at a rate of 8% per annum simple interest for 2 years
and another Rs. 50,000 at the same rate compounded annually for 2 years. After 2 years the
difference in the amount he gets back is
w8 $g 8 . 50,0008 8% Jrgrde é%é 2 DodEyoro8 Somomr ywr )k H20050
$:6° 8. 50,0000% ©T Twod rordd SEIRE 2 Dosyorod awe)do. ToBY
SSTd ©dI8 80N V) IwTod® Flo
(1) 300 (2) 320 (3) 360 (4) 380
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A sum of money is lent at simple interest. Then the money gets doubled if

10. Match the following

Rate of interest No. of years
(i) 16%% (a) 12%
(i) 20% (b) 6
(i) 8% (c) 5

Bod A0 =wBDIL0d
§0d JIw0yd gl éc%é OPYHIR OB, & Jugo TEoR @dw 8

éé FE0 SEEE RIS 260995
(1) 16%% (a) 12%
(i) 20% (b) 6
(i) 8% (c) 5

(1) (i1) (iii)
(1 (@ (b) (c)
2  (© (b) (a)
3 (@ (c) (b)
@ (0 (c) (a)

11. A bank is giving loans at the rate of 10% simple interest. Kumar asked for a loan at 8%.
After verification, the bank sanctioned his loan at the rate he asked as the bank is getting
an interest twice as much as it gets on Rs. 40,00,000/- at the rate of 10%. What amount did
Kumar take ? (in lakhs of rupees)
af wrgody 10% 3¢ $38° Somroo ady0d. K6 8% H38 Sowo Sord. Jurdwm
g0°g&, aﬁgoéogo 88 S0 D 263?) éé, goe. 40,00,000 = 10% éégs éﬁa SnE o
2 B Bodod HIr6H Sed) Howrd TDos. HHrE 8BKHd) SenBod?
w&AD éc% Ten&® (oo Srarddiod®)
(1) 100 2) 90 (3) 200 (4) 180

12. The compound interest on a certain sum at 16% % per annum for 3 years is Rs. 12,700. The
simple interest on the same sum with same rate of interest and for the same period is
(1) Rs. 9,600 (2) Rs. 10,800 (3) Rs. 12,000 (4) Rs. 10,200
oo 162/3% THpd 3 bodEyoredH §od B0y = BES] S 12,700 wo0da.
o3 @“Eéoo%zo, ®0S8 26(2@ Ten&®, 908 HHBTIE el Eécg

(1) . 9,600 (2) 8». 10,800  (3) . 12,000  (4) . 10,200
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13. The compound interest of an amount P for one year at the rate of interest 8% per annum
is Rs. 600. The compound interest for 2 years at the same rate of interest for the same
amount P is

(1) Rs. 1,248 (2) Rs. 1,428 (3) Rs. 1,644 (4) Rs. 1,648

2.8 Sndo P 2 8% 26(29 Ten&® a8 D0BENoeI8 HDYS zﬁ@&éé 8. 600. ©T Bwdo
P % »@ Tws 2 éoéégc"@@% 2552) z:SLééczg

(1) . 1,248 (2) . 1,428 (3) . 1,644 (4) S». 1,648

14. The ratio of the ages of Ramu and Gopi three years ago was 4 : 3 and two years later it

will be 5 : 4. The sum of their present ages is

3 Yooeﬁégwm Bgo ordow, AHo Sosdoe EOK:{(D@}; 4 . 3, Todo Yoozéégd"@ SBoaees
®d 5 4 oPHod. 0 (DNE Hodve Jwdo

(1) 41 (2) 43 (3) 45 (4) 48

15. Three containers have their volumes in the ratio 3 : 4 : 5. The containers are filled with the
mixture of milk and water. The containers have milk and water in the ratio 4 : 1, 3 : 1 and
5 : 2 respectively. The contents of these three mixtures are poured into a fourth container.

The ratio of milk and water in the fourth container is

Qardy F(Eo PIVCIrero a3 1 4 1 5 & rEod Tor HOaw Qe
DFL008° Joard. ¢ ;(FoS* oo, JE Jaydeosr &V 4 11, 3 1 1 $0050
52, & S @Léoé‘sg) W(FHrod TP D @Lé@”s T, P D @*Léeﬁ’sfo EoiloM
50050 8 08

(1) 4:1 (2) 151 : 48 (3) 157 :53 4) 5:3

16. If three numbers are in the ratio 3 : 4 : 5 such that the sum of their cubes is 1728, then the

cube of the middle number is

Hords Dopgo HoTre Bwdo 1728 eThgbdem ¢d) Dopge 08 3145 wond
éoqﬁs :“ooaps WVE) PJDN

(1) 216 (2) 512 (3) 256 4) 128
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17. The electricity bill of a certain establishment is partly fixed and partly varies with the
number of units of electricity consumed. In a certain month when 540 units are consumed,
the bill is Rs. 1,800. In another month the consumed units are 620 and the bill is Rs. 2,040.
If 500 units of electricity is consumed in a month, the bill for that month is
(1) Rs. 1,560 (2) Rs. 1,600 (3) Rs. 1,620 (4) Rs. 1,680
a8 argard VoY TEy Jdgd Do rffonr Yo, ;FEom JITrAONS Jgd
Bordes  § SrHEr $owwod. wf TJoS® 540 orde ATrmIE DS Deo
8. 1,800. $58°8 TJo® 620 o5ardey ITrmE D)5 Do &r. 2,040. o8 Jos®
500 SBardéy IVWIHOVIRYE 2632) 8)63055 AJN
(1) &-. 1,560 (2) &o. 1,600 (3) &. 1,620 (4) J&o. 1,680

18. 6 labourers can build a wall in 10 days. How many labourers of double the efficiency are
needed to build 3 such walls in 5 days ?
6 & KDED@@}O@ . fdd 10 Serods® SoHod. Q08 TEoY @T’Eéog’so &)
DATFoy wmdod 3 Fdod 5 Sfwod® £0ad8 Joddh sard?
(1) 36 (2) 18 3) 20 (4) 16

19. There are 100 students in a class. Number of boys is 10 more than the number of girls. The
average weight of boys is 50 kg and average weight of the whole class is 45.5 kg. The
average weight of girls is (in kg)
w8 SSK8ST 100 H208 3)65"5(@53@)0 &) 8. wread fooe:ps ord¥e ?ooaps £0E 10
P8 D, ol D Sy S50 8 (o SEK8S*D Aergdowodd Dy Sy 45.5 8.\
rO8o Dty P (B (rod®)

(1) 40 (2) 45 3) 50 (4) 52

20. In a team of eleven, the average age of eleven players is 28 years. What is the age of the
captain ?
I.  The captain is eleven years older than the youngest player.
II. The average age of 10 players, other than the captain is 27.3 years.
Choose the correct answer
(1) I alone gives the answer but not II (2) 1II alone gives the answer but not I
(3) I & II both are required for the answer (4) Iand Il both together can not give the answer
11 Ho0d Ao &égoé”s, 11 o0& eaéamegf@ Dfdn B3 28 DodEyoreo. wh IPSHE
S0 o ?
L 2460 98 A9 05 do womrd 08 odsdds 11 JSosdyores 4.
II. 305880578, PADS HH Hood @éan'*’%f@ Dfén HA%d 27.3 DoHEyore.
2T DHrErdo 20w 0d
(DT 8 0TS Sdrerdo 8000, Makges (2) 1188 DTS Sdrardo 80308, [ akgdh
B)[& Il Bodr Hdrerardd eddI Do (4 LI Bodr 8020, Ddrerdo avgdl)
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21. A library has an average of 510 visitors on Sundays and 240 on other days. The average
number of visitors per day in a month of 30 days beginning with a Saturday is
2.8 (Homrodird8 Vel wdIorod® 510 H08 H0dn HADS dorod® 240 Ho0d
DodB @ dI. 3 SHn& chﬁe)ﬁag 30 doren $OAY Sos® ¥ &8 (Hogreodirad
2632) Do&E Do Do
(1) 250 (2) 276 (3) 280 (4) 285

22. Read the following statements

Number of candidates interviewed by panel A out of the three panels A, B, C is

I.  The three panels on an average interview 20 candidates every day.

II. Number of candidates interviewed by A is 2 more than the number of candidates
interviewed by B and 1 more than that by C.

(1) T alone gives the answer (2) II alone gives the answer

(3) I & II do not give the answer (4) I & II together give the answer

& (80& SR LS50

HoTecéo @53%@ A, B, C o&®, ﬁgﬁg A3 ro®Irg ¢ Enfouh! é @qﬁg(@)’ow dowg

L3 g3y difens (98 x> 20 Ho0d ®gEob q0bIrgg BIrow.

. A3 sowdrgg Sokbg ¢ wgdro Hopg B T Bosg B @a)’s%ﬁoeﬁo@ 2, C3
Badog 3 @z;fsgae) 08 1 SESPRSR

(1) T 3-EFo vdrgrdo ad0d (2) II 3@ ddrgrdo adod

3) I mos II, Bodor Ddreedo aés@:@ (4) Txosell, Bodor 0D ddrerdo advow

23. Assertion (A) : If the average of 20 numbers is zero, then there can be at the most
19 positive numbers among them.
Reason (R) : The average of the first 20 natural numbers is 10.5.
(1) Both (A) and (R) are individually true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are individually true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true

D3)EB0 (A) 1 20 Dopge (D) DoHO w0d) wond, aEST doHom 19 &S
fooaag@o GO%DNY.
s*deo (R) P BdE 20 Jdore Dowgo (Diwo) Hovdo 10.5.

(1) (A) £0005» (R) Todr sgdSom 5TI55°8 (A) 8 (R) $TS 58w
(2) (A) %0050 (R) Bodkr argddomr $TI3 570 (A) 8 (R) 33T v 570
(3) (A) 23836 57 (R) 205°¢h

(4) (A) 5057 572 (R) HTIB

24. An owner increases the rent of his house by 5% at the end of each year. If the current rent
is Rs. 3000 per month, what will be the rent, in rupees, after 2 years ?
28 308 0HuIrY E5 R08 VBT (D8 DVodEydo VB 5% Doderds. © rod
aH)8 ©F JoH 8. 3000 00 wonE, Tok oIS e SSHTE 0T (SrFrdHed®)
Do Godnod?
(1) 3300 (2) 3150 (3) 3307.50 (4) 3207.50
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25. A man bought a horse and a carriage for Rs. 30,000. He sold the horse at a profit of 20%
and the carriage at a loss of 10%. Finally he gains 2% on the whole. The cost of the horse
is

(1) Rs. 9,000 (2) Rs. 10,000 (3) Rs. 12,000  (4) Rs. 15,000

2.8 $g & Momd) Lodsn HIEWD AD 8. 30,0008 Saeydo. & (07D edde 20%
ogrd8, HED A 10% IFV8 esryd. VIS wdd Bwdo NS 2% oo
dgrdo. Mo P&

(1) . 9,000 (2) . 10,000 (3) &x. 12,000  (4) . 15,000

26. On an article the manufacturer gains 10%, the wholesale dealer gains 15% and the retailer

gains 25%. If retail price of the article is Rs. 1,265, the production cost of it is
(1) Rs. 800 (2) Rs. 850 (3) Rs. 900 (4) Rs. 950

a8 $NHD, SXrdordrdd 10%, &% agard8 15%, Dol agardd 25% ordo
S2008. 8 WY Wed F& Jov. 1,265 WoNSE, T 578 PE)

(1) . 800 (2) . 850 (3) . 900 (4) 8. 950

27. The difference of two numbers is 1660. If 7.5% of one number is equal to 12.5% of the

other number, then the two numbers are

Todky dopgo Hagg o 1660. ¥ Dopg By 7.5%, H08°8 Dopg Ty 12.5%8

DIrIFE @ Bodky Domgen

(1) 2490, 4150 (2) 2510,4170  (3) 2600, 4260  (4) 2700, 4360

28. In a group of people 72% drink coffee, 44% drink tea. If each person drinks coffee or tea

and if there are 40 persons who drink both then the number of people in the group is

u DHorErodt égé_o‘peﬁ% 72% %008 s°%, 44% H08 & (@ Hosrdo. wodoes? (L&
$g8 5°9pmd, $md ([Eiherd, Todr (7 Hghes 40 H00 wond @ dHrdrod®
Eégé_a@ foospg

(1) 250 (2) 200 (3) 300 (4) 450

IS 2016 A 7G

https://www.careerswave.in/



https://www.careerswave.in/

A

29. A shopkeeper sells two T.V. sets for Rs. 20,000 each. On one he gains 15% and on the other
he loses 15%. Then, the shopkeeper’s gain or loss is

(1) gain of 2.25% (2) gain of 4% (3) loss of 4% (4) loss of 2.25%

28 Sosteardaddo eaé"’zréa_ TV 8. 20,000 5"533326 Boddo TVeo @&&mc‘éa. w8 TV
@Eﬁoégéw@ ©EI8 15% orefdn H0d8n Todkd TV o «Ed8 15% SR B0 S8,
OO YPE, @ 5P SV orgfdw S OQ B0

(1) ooesdn 2.25% 2) oressn 4%  (3) Sps» 4%  (4) Spdo 2.25%

30. A shopkeeper purchased a TV whose marked price is Rs. 16,000 from a dealer at two
successive discounts of 20% and then 10%. The shopkeeper spent Rs. 480 for transportation

of T.V. If he sold the T.V. for Rs. 15,000, his gain percentage is

uf &% g0 008 28 srorrdid (RESE Jo . 16,000 <oy 28 TV
HEDe Tody Ehoy oo 20% & Ehad 10% o¢® o0 g8 » TV Jarer
D@8 8. 480 98y wondd. wdH & TVI &r. 15,0008 @8)0&?5, ©gI8 HDHYS
oy FS D

(1) 30 (2) 25 (3) 20 4 15

31. A shopkeeper finds that the profit earned by selling an article for Rs. 1,470 is equal to the
loss in selling the same article for Rs. 1,050. If he is to make a profit of 30%, the sale price

of the article should be (in rupees)

2.8 osrearrdady o8 HVoHdo &, 1,4708 @3&&@ JVYS orgfdoo, o3 Do 8o°. 1,0508
OB HDYS P B0E DOF0ISI HHodomedy. w88 & D) wdoyEsns® 30%

BN CFr00T, @ HNHH GodIoDI 038R ¢ (Srronod®)

(1) 1638 (2) 1600 (3) 1578 (4) 1532
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32. A and B started a business with Rs. 16,000 and Rs. 12,000 respectively as investments.
After 3 months A withdrew Rs. 5,000 and B invested Rs. 5,000 more. After 3 more months
C joins the business by investing Rs. 21,000. After a year they got a total profit of
Rs. 26,400.

Observe the following statements

(a) The profit must be shared among A, B, C in the ratio 7 : 9 : 6

(b) (Profit of B — Profit of C) = Rs. 3,600

(c) A’s profit is Rs. 16,000

The correct answer is

(1) (a), (b) are correct (2) (b), (c) are correct

(3) (a), (c) are correct (4) All (a), (b), (c) are correct

A %8050 Beoo 380 8. 16,000, 8. 12,0000 Zoéw &8 ¥ Frgardo (rodowedo.
3 Joo SShad A, . 5,000 336%2: @?oé"’s"lc‘éo; B =@os 8or. 5,00000 D6 &
DYrdo. w088 3 Joo EHard C, & 21,0000 Do 38 argrdod® Dok, of
DodEyBo Ehard 08 Bwdo . 26,400/-0 orgo HV))os.

(Bod (HIBIBNe0 HOBO0B0

(a) o) A, B, Coo 7:9:6 9 )$ed® Hod8 858l

(b) (B8 orgfo - C 8 wrefo) = oo 3,600/-

(c) A8 . 16,000/- orefo

DOOBS DIrgrdo

(1) (a), (b) @ H80303 (2) (b), (c) @ HBBID

(3) (a), (c) ® HBI (4) (a), (b), (c) oo @bl ISICKESSENEY

33. A s twice as efficient as B and together they can finish a work in 18 days. A alone can
finish the work in

(1) 27 days (2) 54 days (3) 36 days (4) 45 days

B &) A TEop i)"aéogsoés DY VoK H20605%0 256%56? 0D ¥ DI
18 &farods® Hro Bohiod. A a8y B8 DIV rd ToSae HHro%0

(1) 27 &%eeem (2) 54 &*ween (3) 36 &*ecen (4) 45 &*een
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34. A and B undertake to do a piece of work for Rs. 6,000. A alone can do it in 6 days and
B alone can do it in 8 days. With the help of C, they finish it in 3 days. The share of
C in the amount is

(1) Rs. 3,000 (2) Rs. 2,250 (3) Rs. 750 (4) Rs. 1,500

A, B o 28 $2 &r. 6,000% Hro BoSwds O P& 8. 8 DIV A ¥l 6
Parod’dr, B af)d 8 Serodtd @ro Bohdeds. C 3550508 28 & HdJ 3
SPerod® Gro Vaeds. Pdys® C Bo)y edo

(1) &x. 3,000 2) &x. 2,250 (3) &x. 750 4) 8. 1,500

35. A cricket game is played between two teams with 50 overs. In the first ten overs of the
game the run rate was only 3.2. In the next ten overs it is increased to 4.6. If the captain
decides that the teams’ total should be 303 runs, what should be the run rate for the
remaining 30 overs ?

Tody 2do a8 50 498 (8338 wod erron. edS') Bodd 10 LIS Hhike
Hoedd 3.2 ESHaee 10 aégé"’ ©8 4.68 0N0H. =L TAEHE Jndo Do

303 Boﬁrgob Dgoof‘é AdS 30 é,égeﬁ’?’ DS He Hordd Hod &omd?
(1) 6.25 2) 6.5 3) 7.0 4 7.5

36. A company paid Rs. 6,00,000 as bonus to its employees at different levels A, B and C. Each
employee at level A receives one and half times of the amount that was paid to each
employee at level B and each employee at level B was paid twice the amount paid to the
employee at level C. If 50 employees were on level A, 75 on level B and 100 on level C,
how much amount was paid to each employee of level A ?

(1) Rs. 1,500 (2) Rs. 3,000 (3) Rs. 4,500 (4) Rs. 6,000

A, B %8050 C &0 gﬁoooem?s ad) a& e a8 oY Er. 6,00,000 Sngo SIS
adiod. A g"ooaé”séo a&°gh8 adys Sndo B Q”OJDQS'BEO a&°gN8 ad S Boeed8 w88 8
Téo H0das» B Q”ODJQ)@’SD 1%555(‘35 aw)d 3ngo C EPOJJQS’SED &655(‘35 3W)S Sners
TBods T, A cg”.oooé“g 50 %006, B :gﬁoooéﬁ 75 %08, C cg”oooé% 100 $08 &&° gK00®
A ((:;J*’OJJQS”S &d) ¥ @5235% EIARRS SPED Dog?

(1) &. 1,500 (2) . 3,000 (3) . 4,500 (4) 8x. 6,000
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37. While covering a distance of 24 km, a man notices that after walking for 1 hour and

5
40 minutes, the distance covered by him was 7 of the remaining distance. His speed of

walking is
(1) 9 km/hour (2) 6 km/hour (3) 10 km/hour (4) 8 km/hour

24 8.9 oy, (HSreBoBD (EHoos® a¥ %58 ¥ dow 40 dares &V SSHE,

5
@& DAL Srdost 7 Sody Srdo (DArBodrdd dodomrdy. gl SdE et

(1) 9 8d/Ko (2) 6 8%/0e  (3) 10 8Ds/oe  (4) 8 8do/fo

38. A cyclist reaches a certain place in 6 hours. If he reduces his speed by %th, he goes 5 km
less in the same time. His speed (in km/hour)
af $g8 8T (HXrBoD, wf (DT 6 Jowed® Tdord. & Hg8 «3d Sy
08 Ho é@oﬁoéuo%j, OT DHo0%000S® wsdy 5 8 EEND (DABTrBIrdr. 9E Bl
(8a/K0eE)

1 24l 34l 43§
(1 5 2) 44 () 45 4 3¢

39. Two trains are running in opposite directions with the same speed. If the length of each train
is 100 meters and they cross each other in 10 seconds, then the speed of each train is
(in km/hour)

Tods BEoY $38TE 04S° T THo& (DArSysryow. w88 Teo EH 100
DO 08 B ETID HEEE 10 DEIS® @S, a8 Too TwEy o

(Ho& & §e3“g§)oéage3's)
(1) 84 2) 72 (3) 36 4) 32

40. The distance between two stations A, B is 390 km. A train starts from station A at 10 AM
and travels towards station B at 65 kmph. Another train starts from station B at 11 AM and
travels towards station A at 35 kmph. The time they meet is

A 50050 B Ra g ogg drdo 390 8.0, a8 TBoo Dad A 5§ 10AME 65 8.05/K0
BH08  cHheoTO Phad B FH (dBrsSnos. T Tew Ras B 9§ 11 AMDH
35 8o/do BH0&  CHenTO DaD A Y (HA;BD00. 9 EordodHT Do

(1) 2 PM (2) 2.15 PM (3) 2.30 PM (4) 2.45 PM
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The number of times in a day, the hour and minute hands of a clock are in a straight line
but opposite in direction, is

w8 8fwd® HRorJos®d Kowe H00%m Jdare 2633@350@ w8 DS Tas?t, és@és’
84S AJ) Yo soeron

(1) 20 (2) 22 (3) 24 (4) 44

42.

A watch gains 5 secs in 4 mins and was set right at 8 AM. What time will it show at
9 PM on the same day ?

u¥ I3 H&osrdo (28 ooy dDareodH 5 DEN oo &0, oI
e&0%0 8 dovodH HOTH ©d 8w @ 9 HobodH ©d Wre BIw Jod?

(1) 9:15:00 PM (2) 9:16:15 PM (3) 9:14:15 PM (4) 9:15:05 PM

43.

The last day of a century cannot be

(1) Monday (2) Wednesday (3) Friday (4) Saturday
%@Qoé’s@ V50 Gl wXEA6
(1) tdoaSo 2) oga>Jo (3) #HEado 4) 4$Ja>Jo

44.

X and Y invest in a business in the ratio 2 : 3. After donating 10% of the total profit to a
school, X gets Rs. 900 as profit. Then Y’s profit is

(1) Rs. 1,600 (2) Rs. 2,500 (3) Rs. 2,250 (4) Rs. 1,350

a8 Fgardod® X $005» Yoo 2 : 3 308 e & wyrds. Sndo orgfod® 10%,
a8 PEFTH JorFomr a I EShard XE . 900 wrgfo HDNod. P Y8 5N
oo

(1) . 1,600 (2) &o. 2,500 (3) & 2,250 (4) &o. 1,350

45.

Ram and Shyam enter into a partnership. Ram supplies whole of the capital amounting to
Rs. 60,000 with the condition that the profits are to be equally divided and that Shyam pays
Ram interest on half of the capital at 10% per annum, but receives Rs. 150 per month for
carrying on the concern. Find their total yearly profit when Shyam’s income is half of
Ram’s income.

(1) Rs. 10,800 (2) Rs. 8,400 (3) Rs. 14,200 (4) Rs. 12,600

PR H8 A8 TR0 wﬁ@*séogoeﬁ Sngo . 60,000 Dy o o R & DG
VNS orgrd) DIrSomr HoHrHToL B0 TS Do DE B NG oo
Doddyorv8 10% Eéé@ W), d°gardo d&PoVI0BEH JodH dov. 150 @fooéaﬁéaégom
2DY0B0 B HTE. TR o0 & R o0 BST DHo ad)howE, Fgrdos’
SO Bwgo JodE 8 orgfo Jod?

(1) . 10,800 (2) . 8,400 (3) . 14,200 (4) 8. 12,600

IS 2016 A 12 G

https://www.careerswave.in/



https://www.careerswave.in/

A

46. In a Geometrical figure if radius is 7 units and height is 6 units, match the following
(assuming suitable units and take m = 22/7).

(a) Area of the circle
(b) Volume of the cone
(c) Volume of the cylinder

(d) Curved surface area of the cylinder

(i) 264
(i) 924
(iii) 154
(iv) 308

gNBBH DErod® gddo T dSrdes, 8 6 Brde 0¥ & (808 G
2EHST0d (DTS 5ordey 880, T =22/7 ©d 8080

(a) ) JTogdn (1) 264
(b)) %0%H HodD0Ieadn (i1) 924
(€) 2rHd0 PodHO DI d» (iii) 154
() o BESo Brogo (iv) 308

(a) (b) (c) (d)
(H G G (@1v) (1)
(2) (@)  @Gv) (1) (1)
(3) @Gv) i) () (1)
4 (D) (1) (iv) (1D

47. Match the following
List—I List—II
(a) Cuboid (i) Square
(b) Cube (ii) Circle
(c) Sphere (i11) Triangle
(d) Cone (iv) Rectangle
8od &8 =g Bood
>de—I rde—II

(a) &g Hodo (i) LSg(do
(b) %o%0 (i) $yo
(c) A*Fd» (ii1) (Beezbdo
(d) %05 (iv) 6gS&8 (o

(a) (b) (c) (d)
1 @ (v) () (i)
(2)  (iv) (1) (i) (i)
(3) (i) (1) (iv) (i)
4) () (i) (1) (iv)
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48. If the length of a certain rectangle is decreased by 4 cm and width is increased by 3 cm,
a square with the same area as the original rectangle would result in. The perimeter of the

original rectangle in cm is

0¥ OdSSHE do TwE) FEHI 4 cm ghow Jdooydo 3 cm 200 Ddac%;é
BES(D BPogo, BEIS(D ITogod DSTrSEHHBE08. wRds BYISS(DY Howo
Fod o0.dod

(1) 46 (2) 48 (3) 50 4) 52

49. Ramu cuts a metal plate into two equal halves. He again cuts one half into smaller pieces
of equal size. Each small piece is of 20 grams in weight. If he has a total of 7 pieces of

the metal, what was the weight of the original plate in grams ?

orH0 wf SR THI Todo v grrroam E80owrds. 80A a8 D grmrd) DD
PPN &) W) dNE oo EBJ0IREd. (D8 V) dnE) W) Ko 20 (. oE&
$S Bogo 7 TEH SnE) e 0T, @dds E800DS JudE TH  &HY (.o Jod?

(1) 140 2) 160 (3) 210 (4) 240

50. Two metallic cones of heights 4.1 cm and 4.3 ¢cm and each radius of base radius as

2.1 cm are melted together and recast into a sphere. The diameter of the sphere in cm is

4.1 200.95 $005» 4.3 %0.90 &y, 25 &) R8s 2.1 200.00 eﬁ?@g@*@(go O &)
TBods ST FoHHods E0A0D af F¥om HOTH. © FEY TgHdn o.M

(1) 42 (2) 4.5 (3) 4.8 4) 5
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(a) Any two similar figures are equal

51. Consider the following statements

(b) Two circles with radii 4 cm and 5 cms are similar

(¢) A square and a rhombus are similar

(d) An equilateral triangle of side 3 cms is similar to an equilateral triangle of side 4 cms

Which of the above statement/s is/are correct ?

(1) (a) and (c) (2) (b) and (d)

(3) (a), (b) and (c) (4) (a) only

S (800 (DdVorolo H0890$0d

(a) Q@ Todk VEFrD HErBor DITSOM G0LToN

(b) 4 %o.2o FegIrgan $o0dkw 5 200.00 Fgrgan do Tods Hyzres JErTro

(€) WSO Hooe, Vo FHoSyedo dIraren

(d) 3 oo HhHedn do K‘:éoar"&r’o (Bghedn, 4 Doabo ghzdn o DHoerore
(8808 DD Dw

D (DIBI0S B/ BTI6?

(1) (a) L000%0 (c) (2) (b) H00050 (d)

(3) (a), (b) S0 (c) (4) (a) 28, @

52. Match the following

(a) Mahalanobis (i) oo

(b) Srinivasa Ramanujan (i1) First Indian Satellite

(c) Bhaskara (iii)) Number Theory

(d) Aryabhatta (iv) Indian Statistical Institute

Bod o8I wEErEHod

(a) Ho5oSDD (i) oo

(b) BAa0 ocrdrdoed (i) BEE rdd adHfdro

(€) 2798 (iii) dogrg a0 9d»

(d) edgae (Iv) 2o805S FBRES adPwrgd

@ B (© @
() @Gv) @) @) (i)
(2) (i) @Gv) @) ()
() @Gi) @) Gv) (@)
4 O @) G (Gv)
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16
53. What is the value of (x+16) if
(i) x#-16, and (ii) x2 + 32x = 320
16
() x # —16, $2808» (ii) x> + 32x = 320 ®ond . 2 ood DoE?
(x+16)
) 36 2) — 3 P
M @ 57 ®) 30 @ 35

54. The area of a rectangle is 60 sq. units. If the length and breadth are reduced respectively
by 6 units and 2 units, it becomes a square. Then the area of the square (in sq. units) is

2 8 WSHYPH ITogo 60 ISEH Barddr. T FED, Ideojod HH
6 0535‘;20@3 D000 2 SBardew é@‘fg ©0 a8 SSLI(DNYPS08H. D PR & BSG(DY
STogdn (SEEY Brdysh

(1) 4 2) 9 (3) 16 (4) 36

55. Consider the following statements
(a) The higher the sun is in the sky, the shortest the shadow of an object on the earth
(b) The shortest shadow of an object occurs at local noon
(¢) On the new moon day, the sun and the moon are on either side of the earth

Which of the statements given above is/are correct ?

(1) (a) and (b) (2) (a) and (c)

(3) (), (b) and (c) (4) Only (b)

Bod a)d (ddBzrod H030%0d

(a) ©5°408° “rdgds Jod IS 0T, Frwd o IWH ¢ wod DM
ool

(b) 28 $0H ©& DI V& © (rodH) T éowgéy";oef’ Hogood

(€) odrardg ards Drdgds, Wo(Bodky Forad BEE IPS wowrdd

DI ) (PIST0S B/ DTID?

(1) (a) $:805% (b) 2) (a) $:605» (c)
(3) (a), (b) $2005» (c) 4) (b) o8, ®
IS 2016 A 16 G
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The area (in sq. units) of the polygon whose vertices are (0,0), (4,0), (4,4), (2,2) and (0,3) is
(0,0), (4,0), (4,4), (2,2) 0050 (0,3)e0 Bgroom &)  T70ehe T80 (SEEY rdgs®)
(1) 11 2) 14 3) 22 (4) 30

57.

A circus tent is in the form of a circular cylinder surmounted by a cone. The diameter of
the cylinder is 8 meters. The height of the vertex of the cone from the ground is 15 meters
and the height of the cylinder is 12 meters. The area of the canvas required to cover the tent
is (in square meters)

8 . grdy 008 FoSHdH) 3o TnEy & 15 do. B0 prdo AF 12 . Swdo
Ho@oed) D POEH ©HVEHHTHY oD By ITogo ($.00.08%)

w8 DG Mhardo VDo FoHD HI) uvs*Soe® GI)B. PIDO W) TgOH0

(1) 144 = (2) 116 n 3) 9% n (4) 64 m
58. The next term of the sequence 1, 3, 4, 8, 15, 27, is
1, 3, 4, 8, 15, 27, (B0’ E&Ha8 bowg
(1) 37 (2) 44 (3) 50 (4) 55
59. Five girls are sitting on a bench for a photograph. Seema is to the left of Rani and to the

right of Bindu. Mary is to the right of Rani. Reeta is between Rani and Mary. Who is in
the middle of the photograph ?

(1) Rani (2) Mary (3) Reeta (4) Bindu

PS8 wdrjones P 00 a8 o Erd T8, ove8d ddDs (D8, Dodold
HA (D8R D0 0. oS8 HE (DS Fod 0. ooB8 Tod8 Boggd e woo.
Pest ESJQSSQS”S GO)O AD8?

(1) o°c8 (2) 296 (3) &er (4) Qoo

60.

Fill in the blank :
°®d Hrdotod
CG:HL::KO:
(1) QV (2) PT (3) RV (4) VT

In each of the Questions 61—66, pick the odd number out (does not match).
61-66 S5 @%;@65 SOFPoR Jowgd dogouan.

61. (1) 282 (2) 364 (3) 4168 (4) 6248
62. (1) 1285 (2) 2213 (3) 3074 4) 4172
63. (1) 1339 (2) 2665 (3) 3991 (4) 4223
64. (1) 11 (2) 246 (3) 327 (4) 464
65. (1) 5 2) 12 (3) 25 4) 36

66. (1) 81 (2) 441 (3) 529 (4) 613
IS 2016 A 17 G
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In each of the Questions 67 to 72, a sequence of numbers that follow a definite pattern
is given. Each question has a blank space. Fill it by the correct answer from the four
given options to complete the sequence without breaking the pattern.

67 2208 T2 $8& Ko (B8 (BH)S* 0 adys dopges af ¥k S FoD VR FEByT 0.
(28 (B%)S®%0 &) PO eBoEd VASTI8 Foko Euom adyd el PRYFL H0&
HOTRS war 98° HrooNod. |

67. 5, 11, 28, 53, , 175, 296.

(1) 89 (2) 123 (3) 126 4) 152
68. 7,6, 11, 13, 15, 20, 19, 27, 23, :

(1) 27 (2) 34 (3) 36 (4) 37
69. 4, 10, 18, 28, 40, , 70, 88.

(1) 36 (2) 44 (3) 54 4) 64
70. 21, , 55, 78, 105, 136.

(1) 36 ) 38 (3) 42 (4) 45
71. 3,7, 13, 21, 31, , 57, 73.

(1) 39 (2) 43 (3) 49 4) 53
72. 24, 60, 120, 210, , 504, 720.

(1) 226 (2) 306 (3) 336 (4) 420

73.

In the Questions 73 to 77, the sequence of English alphabets and the corresponding
numbers 1 to 26, follow a certain pattern. Fill in the blank space in each question with
the correct answer from the four given options without breaking the pattern.

73 %208 T7 $8LH ad)d @;%le:é“s sof @Eorws HOdw o 0o éong@o 1 3008 26
DO, af o $FD CiST) rEtgT e, (08 BH)S® @) e, wBoEHe oS8
Fordw Lodom, ad)d oo ©d)Se X008 H0TE aI® 98 Yrootod.

If VEDA’s birthday is on 22-5-41, thén RAGA’s birthday is on

VEDA &3 &% 22-5-41 wonsd, RAGA DED &ez

(1) 17-1-71 (2) 18-11-51 (3) 18-1-71 (4) 19-1-61
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If AZEV : FUIQ, then BYFU :

AZEV : FUIQ eoo»d, wd k> BYFU : .
(1) GKTP (2) GTKP (3) GTPK (4) PTKG

75.

If AKBAR : 15, then ANWAR :
AKBAR : 15 eond, wHypds ANWAR : .
(1) 11 2) 19 3) 17 4) 21

76.

If ICET : 73, then HBDP :
ICET : 73 wons, @by HBDP : )
(1) 64 (2) 34 (3) 48 (4) 54

77.

If FACT : 54, then TAKE : .
FACT : 54 woxns, @XJ‘D)Céo TAKE :
(1) 35 (2) 46 (3) 68 4) 82

78.

In questions 78—82.

In a certain code of the word ‘SAINT”’ is coded as 82147 and the word ‘MONKEY”’ as

364950. Write the code for the following words using the conditions given below :

(i) If any code ends with ‘0’ change ‘0* to 9

(i1)) If no match is found use X

(ii1) If the first digit is ‘0’ replace it by 1

(iv) If both the first and last digits are equal numbers, # 0 and # 2, then change the first
digit to 2

¥ oo 78 o0& 82 H8.

a8 §°&6S° ‘SAINT’ o3F Hdo 82147 o, ‘MONKEY’ o3 $do 364950 mdo §°&

B 83 fod adyd DAdSoN wgrdomr TBHED dfd dored &8 [3°des

(i) @ 8633 VIS 0 oW, v 0 D 9 m IrsHod

(i) 20058 & TEFS X a%od
(iii) BSE @03 ‘00 ®onsd oo (ngéoes“s 1 a%o0&

(iv) B0l 00050 DD @oTewr, W sE 2 578 T JHrS5» wond Dopgen
®ond, Jnde wod §&H 2 dr8yok

The code for the word INMATES is
INMATES o3 $do [SSEEY §°&
(1) 1342578 (2) 1347258 (3) 1432758 (4) 1432578
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The code for the word YESTERDAY is
YESTERDAY o3 $do &aos’zr §°&
(1) 15875XX29 (2) 15875XX21 (3) 05875XX20 (4) 15857XX29

80.

The code for the word STALKINGS is
STALKINGS o3 %o B0y, §%&
(1) 872X914X8 (2) 87X2914X8 (3) 272X914X8 (4) 272X194X8

81.

The code for the word MONASTERY is
MONASTERY o3 %do &w§2)_ §5&
(1) 3642875X9 (2) 36248750X (3) 3642785X0 (4) 3642857X2

82.

The code for the word ASTEROIDS is
ASTEROIDS o3 %do &wg& S
(1) 1875X61X8 (2) 2875X61X8 (3) 3875X61X8 (4) 278X561X8

83.

A motor car starts with a speed of 70 kmph with its speed increasing for every two hours
by 10 kmph. The time taken to cover 360 kms is

(1) 4 hours 20 minutes (2) 4 hours 30 minutes

(3) 4 hours 40 minutes (4) 4 hours 50 minutes

a8 Brerdd 578 70 8o/Ko BH0& BodB (98 Tods Kovesr 10 8do/do Frdy
DoHoHown0od. © 5% 360 8. EroeQ), (PSrfow w8 Xﬂ’g DHooso0

(1) 4 Koo 20 Joaroo (2) 4 Koo 30 Joroo

(3) 4 Kovo 40 Jdoareo (4) 4 Soveo 50 Joareo

84.

AB is a straight line. An insect starts from A and moves vertically up through 4 cms and
then horizontally towards right through 3 cms and again vertically up through 2 cms and
horizontally towards right through 2 cms and finally vertically down to reach B. Then the
area of the figure formed (in sq. cms) is

AB 28 D8¥ T, a8 YO A 5008 05000TO &g gdopom D8 4 vo.does £69,
Eéo@@ HEIY § 3z VIrodSomr 3 Do.dwo 6O éo@@ 8§ ¢t g0 onT 2 00.owo
6O, 80 HDHAIY 8z Jdrodlom 2 0.0 60 VIS Bobs & Sowomr
$62 B Jdoad. ©D )& Déac“é DOY ITogHN (VSEY 200.008%)

(1) 24 (2) 26 (3) 30 (4) 144
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85. A person walks 40 m in the North-East direction and turns 90° to his left and walks 40 m.
Then, he walks 4(,/2 m towards south. Then, the distance between the starting point and
the last point is (in meters)
a8 $g8 Sardg 045 40 . SrSBw S8V, 5 AEB ZY 90° 804 40 2 SrEDw
LB, D Pd S OFS 4042 . B8 SBo; %o SEE (E0HoDS Dok,
SEE Hro TS oo gy SrdHn (Mo

(1) 0 (2) 60 3) 6042 (4) 8042

86. A person walks in the given directions as follows

(i) 60 m to East ; (ii) then 80 m to South; (iii) then 120 m to West; (iv) then 30 m to North
and (v) then 60 m to East. The distance between the starting point and the last point is
(in meters)

a8 Og & (Bod ad)d &éozy@eﬁ‘s INJe SRy Yes)

(i) 8080y 84S® 60 Q.3 (i) SSoad S8 OIS 80 Qo.; (iii) w2 DEHS BFS® 120 Do
(iv) 8&050 &8 a4s® 30 Q. Ho05» (V) wdodso S8 84s® 60 0. Scdoarcbo.
@B I&E ([@SoDoND VoD, SEE Jro Bd DodHo Doy BrEH0 (.08

(1) 30 (2) 50 (3) 60 4) 120

87. A person walks 250 m towards East, then walks 50 m towards North, then walks 300 m
towards West. The distance between the starting point and the last point is (in meters)

a8 Hg§ Srdoy &35t 250 . S&2%d, wdPKR &EY 84s® 50 . QoI .
©D P& DEDS &4S® 300 . J%o; %o, wED SEE (rFoHoDS Do), J&E Wro
BRd DodHe Dy SrEdn (W.od?)

(1) 30 (2) 6042 (3) 10042 4) 5042

88. A person facing East moves 30 m towards East and then moves a distance of 40 m towards
South and then moves 60 m towards West. How far is he from the initial point in m

ErdonS whdopon wd) HgE Erdy 6y 30 D& SdwE S§mo B
40 .00 8D wD DEHE BH 60 N.oo IRwd. JodE Dokd) $0d wEToS
Er8os® sar ke (.08

(1) 50 (2) 60 (3) 70 (4) 130
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89. Find the missing number in the sequence 120, 99, 80, 63, 48, ?

120, 99, 80, 63, 48, ? &3 @l (EH0d" oS Dowgds EIoA"HoH»

(1)

35 ) 38 (3) 39

(4) 40

90. Find the next term in the sequence 589654237, 89654237, 8965423, 965423, ?
589654237, 89654237, 8965423, 965423, ? @3 (508 ) o Hdo s’zéoé’sz)_oé’g
96542 (2) 65423 (3) 96543 (4) 65234

(1)

Read the following data and answer Questions 91, 92, and 93 :

Out of a total of 35 students, 16 want to study French, 16 want to study Sanskrit and 11
want to study Telugu. 5 want to study both French and Telugu, and of these three want to

study Sanskrit as well. 5 want to study only Telugu and 8 want to study only Sanskrit.
Bod deroddan $& 91, 92, 93 BHHoH 2adIges :
Sngo 35 Hod Dwgé@beé‘g 16 H008 (How, 16 Ho0d Dody y&bn H00d%n 11 Hod
Boory BT DB 0T 8. 5 M8y (oW HOWBH SBewoiy Todr SSrol, 208°
dady Dody yEo Erae HSTed ©3080@I) 8. 5 b Soadh JrEH IS
d, 8 H0d Dody yEo Eér@ﬁ@_a‘o IS ASIVIE PSRESIOTPEv L) Fer B
91. Match the following :

List-I

(Choice of Languages)

(a)
(b)
(c)
(d)

Only French and Sanskrit

All French, Sanskrit and Telugu
Only French and Telugu

Only Sanskrit and Telugu

Bod &8 uBVILos :

-1
(FPRY A )

List-11
(No. of Students)
i 2
(i) 1
(iii) 4
(iv) 3

Ra-I11

(Rargdow éosgg)

(a) (oD $o0dB» Dodyydo IrEHo i 2

(b) (o, DodyyBo HBB» S &9?3; (1) 1

(€) (wod Ho0MBn Bwar Ir(EDo (iii) 4

(d) %0%p )0 Ho0dbn Book Sr(EDo @iv) 3
@ (b () (@

() Gi) @Gv) @) (1)

(2) @) @ @Gy (1)

(3) Gv) @) @G) ()

4 @) (@ @) (1)
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92. Which one of the following statements is not correct ?
(a) 10 students want to study at least two of the three languages
(b) 5 students do not want to study any of the three languages
(c) 4 students want to study all the three languages
(d) 7 students want to study only French
(Bod ad)d (pITTes® & $05°E?
(a) 10 Ho0& @wggom 3 rhos® €d%o Todoedar) Wdarodsoboae)d
(b) 5 #& Jorgdhen Hardy e b Ere ISTesEdEo T
(c) 4 K& Swgéoeo Jarddy PR @ WEIR B D800I 8o
(d) 7 #8 Dws%ﬁom (oD Jor(Bo DIAESLISESSESIIaS I et
(1 (a) (2) (b) 3) () 4 (d

93. Read the following statements :
(a) 30 students want to study at least one of the three languages
(b) 20 students want to study only one of the three languages
(c) 2 students want to study only the two languages Sanskrit and Telugu
The correct answer is
(1) (a) is correct but (b) and (c) are wrong
(2) (a), (b) and (c) all are correct
(3) (a) and (b) are correct but (c) is wrong
(4) (a) and (c) are correct but (b) is wrong
Bod (DIdVred WdHod
(a) 30 X006 bmggoeo Sord rhes® $D%o 28 OIS WET 00T 8
(b) 20 %008 Ddargdoew $rR08S® 28 A HrEHo SdTreoLgroboT) 8
(€) =88 Jargloor LoDy yEo H0B» Bwary To&kod Jo° (B Do FETO0E 00T 8
00 Td {oo“awc;;zéeéoa
(1) (a) ¥3IT 572 (b) LodBn (c) HO5°%
(2) (a), (b) L0005» (c) Lords HTIS
(3) (a) %60%» (b) vTIT 520 () DO
(4) (a) $50050 (c) HBIV 522 (b) Dok
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The number in the figures in Questions 94, 95 follow a pattern. Find the number in
the place marked (?).

Bod adyd 94, 95 (H¥ o DeLNOS® Jopgwr af ERDSBS® eI on. (?) DES e $Ty
Soeg s’éaé’s&o&.

3113 7158 51|41 ? 189
M. 15 3 | 40 419 5139
(H 9 2 8 3) 7 4) 6
418 6|12 12 | 36 7120
95. 112 2] 3 3|4 2] 5
(1) 16 2) 8 (3) 10 4) 2
96. A silver cuboid of dimensions 5.5 cms X 5 ¢cm x 4.2 cms is melted to form circular coins

of diameter 1.75 cms and thickness 4 mm. Then the number of coins made from the silver
metal is (Take m = 22/7)

55cms x5 cm X 4.2 cms Sodon o a8 Jo0d 5g PorR) E6Aow 1.75 cms TGO H0
$005» 4mm  H0d85» o Tl B EXrH VI, wdypd Fod oo
508 #5738 B Doy (T =122/7 od 8%E048)

(1) 120 (2) 80 (3) 60 4 12

97.

A rectangular field has its breadth and length in the ratio 4 : 5. If the breadth of the field
is 20 m less than the length, then the perimeter of the field in m is

&g SE S| s os® &) w8 PFodn W) Jdooy, i 4 5 S‘QQ%@% HoR).

& POHN WV Voo PR o) 20 m SEH.Hm &26;55, @ Pon0 BN Wk
Fod d.od

(1) 240 2) 300 (3) 360 (4) 540

The numbers in the following figures follow a pattern. Using this information, find the
number in the place marked (?) in Questions 98, 99 and 100.

Bod ad)d Ledod® Jopges ol EHIEBS® aIm)on. & JITTELN GHTAD, [BFHo0
98, 99, 100s® (?) L Ste é?ob Sowgdo §269§'6&oé‘§.

1 3 4
3@5 1@3 6-(24)-2

8

4

8
98. 6 3
2
(1) 26 2) 28 (3) 30 4) 32
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99 @
o
5
(1 3 2) 4 3) 5 4 6
100. 12
% @ 12
@
3 !
(1) 2 @ 5 ¢ 5 @) 1

101. Identify the correct statements

(a) Magnetic force does ‘no work’.

(b) Electrostatic charges generate magnetic field.

(c) Ifthe lines of magnetic force are parallel then magnetic field is uniform.
(d) Uniform magnetic field is conservative.

DTS VdBeen hookod

(a) ©ohIpod odn DITBE .

(b) %9 DS BEd0e. Hod wdhTpod F (Fdo &S38 el

() ©0Hpod © Tpwr DIFoSEHd wohI)od F (Fdw 28088 odod.
(d) 28868 wohdrpod E (EHn JEg8e b,

(1) (a);(c) 2) @), (d) 3) (@, (b), () () (b), ()

102. What physical property of the following uses non-destructive evaluation experiment to image
defects in materials ?

(1) Sound (2) Heat (3) Electrical (4) Magnetic
S (300 @ FBE o7y, (BHgEwed® Ko ol (HBD0D0T wdTHE Jeoher 87T
(DTITHH0S® TS ?

(1) &g (2) &g d» (3) o5& (4) eddaryod
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103. Identify the correct statements

(2)
(b)

(©)

(d)
(1)

Sound waves and ultrasonic waves are longitudinal mechanical waves.

Sound waves are longitudinal mechanical waves and electromagnetic waves are transverse
mechanical waves.

Sound waves are longitudinal mechanical waves and ultrasonic waves are transverse
mechanical waves.

Electromagnetic waves are transverse waves.
(a), (b) only (2) (a),(b),(c)only (3) (a),(d)only  (4) (a)only

DTS VdBeen Hookod

(a) $30 BFomrewo HOBN wIFEID Sdomen &9260@5)5)5 05r0 (B8 Somre.

(b) &30 SFomren wNBFs Bro(@8 Fdomeor HH0Kn Jdgdadodryod Edomen
8858 Bro(@¥ Somen.

() &30 dFomreo e—9263§g5 FBro(8F SFomrw H0BH ©8 G ESomen 8IS
oS0 (88 SSomro.

(d) DeSogdcshodrypod EJomer 8¢5 SJomen.

(1) (a), (b) S (& (2) (a), (b), (c) s(ES () (a), (d) SrE>  (4) (a) S

104. Match the following :
List-I List-1I

(a) Mercury thermometer (i) —200 °Cto 1600 °C

(b) Platinum Resistance thermometer (i1) —200 °C to 500 °C

(¢) Thermocouple thermometer (i11) —200 °C to 1200 °C

(d) Constant Volume Hydrogen gas thermometer (iv) =30 °Cto 350 °C

(ol o8I 2BNEL0&

a1 eIl
(a) 8oy g0 waHS HrHEH (i) —200°C %00& 1600 °C 8%
(b) B350 IE°SE SFAS SrHESD (i) — 200 °C %508 500 °C 5%
(€) &R Baiydn e (HE SrdHEdw (ii1) — 200 °C %00& 1200 °C 8%
(d) S DodDoDHTe (@RS @raind) (iv) —30°C %508 350 °C 8%
Galf (g DrOEH0
@ b (© (@
I @ G aGv) (i)
(2) @) () (@Gv) (1)
() i) @Gv) (@) @)
4 Gv) () @@ (D)
IS 2016 A 26 G
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(1) Fe* 2) Cr* (3) Co* 4) Mg

105. Metal ion present in Vitamin B , is

DLW Blzé% Ho SPEe 9asrs

106. The irritant red haze of the eyes in the traffic and congested places is due to
(1) Butane (2) Dust (3) Oxides of Nitrogen  (4) Methane

("5 W&o &) H00Sn 2dVgo B H &) (88)02D @8?@@3"" é@;éo@ 00k
@
I8 D@08 sP8w0

() og8S 2) @ (3) 3= e3)bw (4) DTS

107. Which one of the following is a polyester fibre ?
(1) Bakelite (2) Polystyrene (3) Nylon-6,6 (4) Terylene
(Bod &S rOTHE Fh 202

(1) BE8E (2) >3R0S (3) Bors-6.6 4) ®oOS

108. Identify the statements from the following which are not correct ?
(a) Lactic acid is an antiseptic
(b) Chloramphenicol is an antibiotic
(¢c) Sucrolase is an antimicrobial
(d) Analgin is a tranquiliser
(Bod aES® H0THD AHSmen 570 TG HdoLod.

(a) @88 w0 a8 BroBwPs

(b) 560w Is°S 2 dSrod Tr@s

(c) ETE a8 Bro8IH(E*H5S

(d) 9 a8 (Gro8g B=d

(D) (), (b), (d) 2) (a),(c), (d) (3) (a), (), (c) 4 (b),(c), (d)
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(a) Carbohydrates synthesized in the leaves are translocated to other parts of the plant through
Xylem.

(b) Recombinant DNA is also known as chimaeric DNA.

109. Read the following statements

(¢) Programmed cell death is known as ‘apoptosis’.
(1) (a)and (b) are correct (2) (b)and (c) are correct
(3) Only (a) correct (4) All (a), (b), (c) are correct

& (800 (DdVTrod wEgohdo Bohod

(a) HErod® DoFusHThy 528" ) e (@heo TnE) add o T e oSSm0

Bodoow
(b) HIedoBrazg DNA S Bod5 DNA ©d $re wodrdd
(c) (Perds Fomr Serod IIFSE) ‘DN woirdd
(1) (a) 00050 (b) $8 DD (2) (b) H0005» (€) HO D

(3) (a) $mB> BOTHHO @) (a), (b), (¢) &y BOTHID

110. Read the following statements concerning smoking and identify the wrong one
(1) Nicotine inhibits the functioning of adrenal gland
(2) Smoking causes emphysema
(3) Smoking increases ‘CO’ levels and reduces O, levels in the blood

(4) Adrenal medullary hormones increase the B.P. and heart beat

D@ e Do 0Qow & (8od (DIWTTOH ©dgdddo B D05 A #2800
(1) JAIS (Hos I Jerard) JE'ES J86°9D00

(2) &rderddo $o QoI ESESSRINY

(3) >Herddo So SEod® ‘CO’ Hodrmo oA O, HOIr®mo & oo

(4) QB S8y doen 8 D&Y, H0B FET Jrd) Dowsron
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111. What 1s the function of Plasma cells ?

(1)
)

Antibodies formation (2) Storage of fats

Storage of proteins (4) Vasodilation

Py S50 QO QeI ?

(1)
)

(08 Jgstod bdgd&zﬁoc’o (2) (BDge Qg
(eSS0 dog (4) >FBTAS

112. Which one of the following is not correctly matched ?

(1)
)

Vitamin B, — Beriberi (2) Vitamin B, — Pellagra

Vitamin B, — Loss of appetite (4) Vitamin B, — Pernicious anaemia

&3 800 mdod® DO HOTHIO 5°&

(1)
)

QS B, — BoBS (2) Qw3 B, — o
QoS B — «8d Lodhowdo (4) Dernd Blz—_“oaéfooﬁoi 6_§°§J°ée§

113. Read the following statements

(a)

(b)
(©)
(1)
2)
)
4)

Acid rain is caused when sulphur dioxide (SO,) and nitrogen dioxide (NO,) in environment
reacts with water molecules in the air.

The farthest atmospheric layer is thermosphere.
Western Himalayas are biodiversity ‘hotspots’.
(a) is correct but (b) and (c) are wrong
(a) and (c) are correct but (b) is wrong
(b) and (c) are correct but (a) is wrong

All (a), (b), (c) are correct

& (800 (DIUTr o ©ggadhdo Bo%od

(a)

(b)
(c)
(1)
)
)
4

FHE00S o038 Bu3 36 (SO, $r0050 SE*=s Bw3 & (NO,) mds™
U weuHos® B8y BohIR®d ‘oo égf’@o’ Er80J°00.

wdgod Srdom &od ToHdn Y C;SG’S&?Q‘Doﬁog

DBYD IHrodires 5T GEIFYE oo

(a) 90030586 520 (b) H0dBw (€) DOd) 5N

(a) $0050 (€) HO8BID 570 (b) DOCPIE 57

(b) H08B» (€) HOONIV 570 (a) VOIS 57

(a), (b), (¢) @bl D005
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114. Match the following

List-1 List-IT

(a) Methane (i) Knock-knee syndrome
(b) Phosphates (i) Global warming

(c) Freons (iii)) Bloom formation in lakes
(d) Fluorides (iv) Down syndrome

(v) Ozone depletion
Ss (800 ad wEDHTWos

eI eIl

(@) PBS (i) ®5-9 2o&&0

(b) & oy&es (i) 6° & =°0308

() (posroe (iii) fod?oos@@”s S00220 (bloom) Ddsc‘é&ao
(d) &*BT&eo (iv) &8 2o(&*&0

(V) 488 o
The correct answer is

HOTHS BEFEHO

@ ® (@© @
() Gv) i) (v) (i)
(2) @) @) (v) ()
(G) @) @) () (@(1v)
@ v G v @

115. The correct sequence of states in which Bandipur, Manas and Pench Tiger Reserves are located
(1) Bihar, Assam, Maharashtra (2) Karnataka, Madhya Pradesh, Rajasthan
(3) Madhya Pradesh, Maharashtra, Tamil Nadu (4) Karnataka, Assam, Madhya Pradesh
OGS, DD OIS DoV PO wFairdargodn EOARND) Trarye HOODD (E0d

(1) 958, oo, HodtoRy (2) Eomv¥, H¢g(HTE, cad
3) éodg@aé%, HoFPorR 9, STk (4) o 0f, odfyo, éo@ﬁs@aﬁ%

116. An irregular occurring and complex series of climate change is called

(1) ElNino (2) Hurricane (3) Tornadoes (4) Low pressure

DoER DI, ©h0o FDI drerdden Hrddyod & (§od JFonr DedId

(1) 5 IS 2) 0388 3) éS“SCSQﬁs (4) ooy DB S D0
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117. Which of the following is/are not correct ?
(a) First Five Year Plan — 1951-1956
(b) Third Five Year Plan — 1966-1971
(c) Sixth Five Year Plan — 1980-1985
(d) Tenth Five Year Plan — 2002-2007
Correct answer is
(1) (a)and (c) (2) (b)only (3) (c)only (4) (a)and (d)
& (300 T5god® JB/AD EHY?
(a) B&ES DoIIY (DerPse srodw — 1951-1956
(b) Hordd Dowddd (Der@s stodw — 1966-1971
(€) ©8S DodRE (derr®s° stodw — 1980-1985
(d) 285 oY (Der®s sPed0 — 2002-2007
D35 Ddrgrddn
(1) (a) &005 (c) (2) (b) & (3) (o) & (4) (a) 00 (d)

118. Economic and Social planning is in

(1) Union list (2) State list

(3) Concurrent list (4) Residual powers
©0¥ 0Bw Frdrael (Lerds” vwhs o w Q NS PoddHET S
(lj To erder (2) oy =de

3) t%c‘éo&& T (4) o339 whs oo

119. What is the correct descending order of foodgrain producing states ?
(1) Uttar Pradesh, Punjab and Madhya Pradesh
(2) Uttar Pradesh, Madhya Pradesh and West Bengal
(3) Punjab, Uttar Pradesh and Telangana
(4) Madhya Pradesh, Punjab and West Bengal

PSS TH0S® eitd TGO H0B0BE0S® BHD (BLooS® (DD L00d) HokoB orar9© 0
HodoLod

(1) eSSHTTF, Hoerd HI0T5» 260455636?5

(2) S HT5, aﬁocjg@ag H05n BBy Bomrd
(3) Hoerd, ¢SSHTTF H005» Boomrn

(4) $§g(HTF, Doerd HOB» HRYSHTomrd
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120. Which of the following Articles of the Constitution can not be suspended during the period of
National Emergency ?
(1) Art. 32 (2) Art. 21 (3) Art. 19 (4) Art. 15
0% odeHdY X)@?g@ Qoo swod® CF"?S"’SOﬁO@’SD Q ©0¥SLH BDyok Enfoutlea k)
Qend
(1) »98d 32 (2) »§8s 21 (3) »§5d 19 (4) »98d 15

121. Match the following

List—I List—II
(a) Rajoliband Diversion Scheme (i) Karimnagar
(b) Sriram Sagar Dam (i) Adilabad
(c) Lower Manair Dam (i11) Mahabubnagar
(d) Kadam Reservoir (iv) Nizamabad
2 S DT od0

eI kol | |
(a) oeefen o 09 0w dE¥o (1) %60%K6
(b) $oro 306 @S (i) ®docerd
(¢) &°c%86 36 wreo (ili) Sod 755HE
(d) £Bo dzorg0ib (1v) dedrerd

(a) (b) (c) (d)
(M O (i) ) (iv)
2 @ Gy @) (i)
G)  Gv) @) (i) (1)
4) @y - Gv) () @)

122. Consider the following
(i) Right to Education Act makes education a Fundamental Right
(i) Right to Education Act was passed in the year 2009
(iii) Right to Education Act assured free and compulsory education to the children between

years 6-14
Which of the statements given above is/are correct ?
(1) (1) and (i1) (2) (i1) and (iii) (3) (1) and (iii) (4) (1), (i1) and (iii)

(Bod arsrgote HBROoWDL

() Qdarg &) Fho A8gd (FENE Ty (HESoV0d

(i) Qdarg &y FHo 2009 {oozééQééooé* B RO 0WE

(iii) 6-14 DodSyoros® &Y Deeodd8 DS H0w DEyod g azrgod darg
a8y WHo (DEBoV0H

D T5god® d8/9D HTID

(1) (i) $0050 (ii) (2) (ii) o005 (iii)
(3) () %005 (iii) @) (i), (i) H00%0 (iii)
IS 2016 A 32 G
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123. Minimum duration of stay in India before applying for Indian citizenship is
(1) 3years (2) S5Syears (3) 6years (4) 7years
QBRSwe0 28 FEHE30 ETEKH BEPy WoNLEH w0 PrEETH0S® I) DodEEhwen
AXV0W GoBNTl.
(1) 3 Jod&yore (2) 5 Jod&yoreo (3) 6 VodSyoren (4) T DodEyored

124. Which state government has launched a scheme titled ‘Ashray’ to save girl child ? What is
the main aim of the scheme ?

(1) Uttar Pradesh  : Providing 200 crores to save girl child

(2) Madhya Pradesh : Providing food and clothes to girl child

(3) Rajasthan : Government to place specially designed cradles in 65 state hospitals
for the safe abandoning of girl child

(4) Haryana : The government to place specially designed cradles in all state
hospitals

' VYO V08B oL ) 0°R90 w(dds Wl DFEok (HTIWLod. T (derD

oggo Qoe3 ?

(1) &g (T8 : @i Dood §owswd &r. 200 §°¢S Swrowood

(2) gy B35 1 el oo Ho, @HPoY) DIErE YKo

3) U"es(g“’S D ud Dood IEEom GV DHEIE 65 (Dghdg sod(dos®
@@Séom V0307 &3 esofoo Do*géoo

(4) Srorgd D o) (DhEg sd|$ed® (HBgEom D030 G sdHhoo Jor)io

125. The Intellectual Property Appellate Board (IPAB) has ordered Chennai based ‘Geographical
Indication Registry (GIR)’ to issue ‘Geographical Indication’ tag for basmati rice, which is
applicable to 7 Indian states.

Which of the following is correct ?

(a) These seven states are in the Godavari river basin of India

(b) These seven states are in foothills of Himalayas

(c) These seven states are in North-East of India

(d) These seven states are in South India

(1) (a) only (2) (b) only (3) (a) and (d) (4) (a) and (c)

DG b0 0f e ©0)BE &°G (IPAB) vy (95780 BI)H Todd 2T HES
aoé’séiaSQ 6&%89 (GIR) e (“oo“(g 208 DofgodH 2IBr(APES R08TAS oo
%0080 H(El0 BFod. & InE PESTIoS D 7 orrgo s HOV0H

8od S8S® D& Do

(a) & Ak Trar9eo HTEPH0 HOT T (Fodod® Lo

(b) & Ak orarges WHTrOBTrY Foro Bod o)

(c) &8 Qo S IoN S THoSD @éd—éﬁ?égo@ o)

(d) & 2% orarges S8 o rEETHoS® Lol

(1) (a) $m&T 2) (b) 57EF  (3) (a) 90050 (d) (4) (a) $:005» ()
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126. Old name of State Bank of India is

(1) British Bank of India (2) Imperial Bank of India

(3) Federal Bank of India (4) East India Bank

RE w508 ©d R0BOIT YrdgH) B

(1) ©8% ergof @ zo&dsr (2) wo%B0HS ergo§ @ z0d o
(3) &S wrgof ©h moddsr (4) &9 mo&asr errgos

127. NITT Ayog stands for

(1) National Institute for Technical Investigation

(2) National Income Transfer to Individuals

(3) National Institute for Transforming India

(4) National Intelligence Training Institute

NITI &Trh A drdd08

(1) QIS as Borgd $6 BEYES adsIRAAS
(2) SEIS asgS ()96 & 208VErgS Y

() LSS asyBergd $6 (rS3)r000 @0d ST
4) Jh3S 2000BI) B9Voh adyBargd

128. Nirmal Grama Puraskar is associated with which of the following ?
(1) Enlarging Forests (2) Expansion of Industries
(3) Rural Sanitation (4) Rural Electrification
QS (0 P w (8od >3S° TI8 Yo 050DDH
(1) odHo 29 (2) Do 08
(3) (o FOHEg0 (4) (Do DSgHESe

129. Which of the States is not BIMARU State ?

(1) Bihar (2) Madhya Pradesh (3) West Bengal (4) Rajasthan

(Bo& o8& BIMARU orh90 5208

(1) H5%86 (2) Dogg (535 (3) DB BWorrd  (4) ore e
IS 2016 A 34 G
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130. Who has won the 2016 William E. Colby Award for best military book ? What is the title

of the book ?

(1) Nisid Hazari
(2) Logon Beirne
3)
4)

Douglas Mastriano

Thomas McKenna

Midnight Furies : The deadly legacy of India’s partition

Blood of tyrants

A new Biography of the Hero of the Argonne

Science and Technology in Military

e Iogd do Jdobd (fogosH aég V000 2 5§98 ward 2016 HodSYTBNIEH IH08
©HoVod? & PLEo HT.

JSVE Greed
SIS 36
S0 255"?8905055
D BI7Y,

(1)
)
)
(4)

W& IE Qrgdd
L6 6D Blody

S BEO Bid uH vodosr FOO S

Q Srg WD @ § 6t e § €8T
2O) wob Tsyee as dodd

131.

‘Jorwe’ culture belongs to

(1) Chalcolithic phase (2) Megalithic phase
(3) Mesolithic phase (4) Tronage
‘é%és’ D00 Y8 & 57000 [ohdd
(1) e (do3e> dsnifo (2) Yy &B3ur dSwio
(3) Hogg o°® dBwifo (4) w00 s cswio
132. Match the following

List-1 List-IT
(a) Bagor (i) Rajasthan
(b) Langhnaj (i) Gujarat
(c) Bhimbetka (iii)) Madhya Pradesh
(d) Sarai Nahar Rai (iv) Uttar Pradesh
S5 (800 A0 &SEHTHHW

-1 eIl

(a) &°6 (i) ocedrs
(b) ®ohod (i) Hozoé
(c) D& &y (i) gy Bkl
(d) dorom 3508 oodd (iv) &8 (937

(@ b © (@
H @O a) @3 (@v)
2 @O (@v) (@) (i)
(@) @) @ (@Gv) ()
4 Gv) (i) @) (1)
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133. Which of the following statements is not correct about the Rigveda ?
(1) Rigveda mentions Varna
(2) Slavery was not mentioned in Rigveda
(3) Sabha the assembly was mentioned in Rigveda
(4) Rajan occurs many times in Rigveda
EHTZEENIEH Do 060D & 808 TS X (HBFED D P WD &0 :
(1) "5go0" %000 SHTgedn ©600
(2) w0 SH0’ H00D STISHN DEYIT
(3) DY %000 SHTNgEIH wE0d
(4) ‘el o DESNG SHTgEdn e Horgdhdnes D800

134. Which animal figure is not found on the so called ‘Pashupati’ seal discovered at Mohenjodaro ?

(1) Elephant (2) Lion

(3) Tiger (4) Rhino

eSS UIeE T M oo )BD DD Hoo(e DS D 2oBD) B0y BEY BB 7

(1) Qbact>
(3) D&

(2) Dodrd»
(4) ESoyidm

135. Match the following
List-I
(a) Kosala
(b) Licchavi
(c) Vatsa
(d) Matsya
& 1808 oI wSHEHWokw
eI
(a) §%eo
(b) OBy
(c) )
(d) So&yg
@@ ® (© (@
() Gv) @) (@) (i)
(2) i) @) (Gv) @)
3 O (@) (@) (@v)
4 @) (@Gv) (@@ (i)

List-11
(i) Vaishali
(1)) Kausambi
(iii) Viratanagara
(iv) Sravasti

e-I1
(1) 3O
(i) §°3°0d
(iii) Dored g D0
(iv) (35

136. Arrange the four Buddhist Council meeting places in chronological order.

(a) Rajagriha (b) Kundalavana

(c) Pataliputra (d) Vaishali

&5 (808 adg &Y F°E Doy JDITrVFHnes wOAD (HTFINOL (K Dopgs® (Foindm.

(a) oy (b)) Hodewddo

(1) (@), (b), (c), (d)
() (d), (c), (b), ()

©) &edys d) 370
(2) (b), (a), (c), (d)
4) (), (d),(c), (b)
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137. According to ‘Arthashastra’ the state is constituent of ‘Saptanga’. Identify the correct one.
(1) Svami, amatya, janapada, durga, kosha, danda and dharma
(2) Svami, janapada, durga, kosha, danda, mitra and kshatra
(3) Svami, amatya, janapada, durga, kosha, danda and mitra
(4) Svami, amatya, thataka, durga, kosha, danda and mitra
)90 (B5°8dw ‘orego’ ¥ woldned Er& Gowwod. & (300 FIS® 2B HOTPOO
(1) TG, wHTEe, BIDA, 650%5 §%%, Sod Lodsw 15}
(2) g, 2IDE, o, 8%, Sod (g Ho0Bw (S
(3) g, wIrds, BIDE, o, §%%, S0 Ho00%0 (S
(4) g, wdrdg, s, S8, 8%, S0 Ho00%m Mo

138. Which one of the following texts was known as the Bible of Tamil land ?

(1) Tirukkural (2) Silappadikaram (3) Naladiyar (4) Manimekalai

& (800 °AS° D (HoFo SWYF (rod BOST HONB0E oo,

(1) &858 (2) 3FDHés*8o  (3) SobOsrS (4) $o8TopS
139. Identify the wrong pair

(1) Aryabhatta —  Aryabhatiya

(2) Brahmagupta — Kandakadyaka

(3) Varahamihira — Brihatsamhita

(4) Bhaskara — Panchasiddantika

S8 (808 @AS® DB HOTHD wdsEd

(1) esgaféo — @65@’&3050

(2) ( Do — Zodseasgd

(3) SETATS% — Y E&dowrd

(4) =080 — Xvofj?ocg"o@§

140. Which of the following statements is wrong ?
(1) The founder of Madyamika School of Mahayana Buddhism was Acharya Nagarjuna
(2) Yogachara School of Mahayana Buddhism was founded by Maitreyanatha

(3) Aryadeva and Buddhapalitha were the followers of Madyamika School of Mahayana
Buddhism

(4) Shantideva and Chandrakirti were the followers of Yogachara School of Mahayana
Buddhism

& (800 a°§§éooe>e3“g YA 200008 57

(D) @a"dg Sergododdo zéooﬁoﬁré 25"’65{)0%2533260630 HIEGNE DErod JP0(DEABd0D0
SARSISESENS '

(2) 33@39053 SPGB0y HoTEAITS zT’CSéoééEﬁaaEéoCSo Wi w8 DErod JPo(DT0oB FRoT
(3) wdg THck 05w oéﬁ@éocéa 0T8OI 23"652533@5%50 éﬁég@aé (ocs"oé éﬂo@w’oﬁoéw:é;

I ®0DOWIE
(4) =~o& 82@6@3 FevYoTousy) ﬁo@éa EOPOLTOVOLIN) ﬁmdéaééaoé%é’b ool cowoé D°O (BT 03000
WH©0NoWI°
IS 2016 A 37 G

https://www.careerswave.in/



https://www.careerswave.in/

A

141. Name the Delhi Sultan who called himself the ‘Shadow of God’.

(1) Balban (2) Alauddin Khilji

(3) Mohd. Bin Tughlaq (4) Firoz Shah Tughlaq
BT THO G @) THYpHI) 3 oerd D2

(1) eoreys (2) wgrsdS 9O

(3) o8 A3 Sod§ (4) »8& ar SN

142. Assertion (A) : The arrival of North Indian Sufis into the Deccan in the 141 and 151
centuries brought deep changes in the political and religious fabric.

Reason (R) : glhey came to justify Khilji and early Tughlaq invasions of the Deccan
ateau.
Answer is :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

BBFES (A) @ 14 H005n 15 for_snod® ¢ erdETF wrp F@dHos S8

(PO E D055 oSS0 256, 53 @“’oé oc@0% o8 VH oddnost
P85 Hrdoyen %0 DO DT,

sdedn (R) @ &5 0365255"5)3 8 5)@)@3 H0Aw &O S Soddir(@oly Trgow go
TB00s wrd s & ([Fosed8 26{’373@60

DIrGedo

(1) (A) $8050 (R) dz0 (R), (A) & 0830 258

(2) (A) £005 (R) Bodr Jwo 529 (R), (A) & HOTHS DdSe 526

(3) (A) Q=0 5 (R) Dy

4) (A) &5y 59 (R) de2o

143. Assertion (A) : Alauddin Khilji prohibited the sale and use of liquor in Delhi.
Reason (R) : He wanted to uphold religious and moral standards of people.
Answer is :
(1) (A) and (R) are true. (R) is the correct explanation of (A)
(2) (A) and (R) are true. (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true
PSS (A) 2506550 By L0000 @y seebd c%@ $HSoe® So% &éS 53@
A HoTo.

s~gedw (R) HEC [N ﬁéS 5)@ (Do BwE) IS8E H0WB NE (DITL IR0 ég&
Tﬁoﬁooéo% L@oﬁo@loﬁéo
Ddrprdo

(1) (A) $8050 (R) dzo (A) £ (R) 980308 dd58es

(2) (A) 00050 (R) Qzo 520 (A) & (R) D000 28 520
(3) (A) dzo 52 (R) oy

(4) (A) 5y 57 (R) dzo
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144. Warren Hastings’ experiment of auctioning the right to collect revenue to the highest bidder is
almost similar to
(1) Poligar System of Vijayanagaras
(2) Igta System of Delhi Sultanate
(3) Jagir System of Mughals
(4) Izara System of Mughals

Frined Too I, wdgdEomr oo FEH 0T H) HIrer T WETIEHN av) TS
208 DErHEn’ O DHEnd FO G0,

(1) D205ddd cero stooad BrY S50

(2) @0 e steoTE ase AFEHHN ‘

(3) Bwdove svomd "wrhb D950

(4) DoHene sPe0I°E BRO® JF°XD DN

145. The Indian member in Viceroy Legislative Council who resigned in protest against Rowlatt Bills

in 1919
(1) Tej Bahadur Sapru (2) B.D. Sukul
(3) M.R. Jayakar (4) GS. Kaparde

1919 fooéégéoé% T 0d Do Eég@f%om BFrow TH80EO Hod TdTrdy B
rEBon BeSgdh 5?2

(1) €& & &r5 b (2) B.D. %&dS

(3) M.R. 20556 @) GS. 53

146. The following states share border with Uttar Pradesh

(a) Punjab (b) Rajasthan (c) Chattisgarh (d) Jharkhand
Correct answer is

(1) (a), (b), (c) and (d) (2) (b), (¢) and (d)

(3) (a)and (d) (4) (a)and (c)

(Bod AS° &S (HTVIE H0TE Ko orargen D 2

(a) boerd (b) oS (c) w8896 (d) egob
DT ddrgrdo

(1) (a), (b), (c) S0603x (d) (2) (b), (c) H08030 (d)

(3) (a) 08030 (d) (4) (a) $2860%» (c)

147. The state having largest area of forest cover in India is

(1) Madhya Pradesh (2) Assam

(3) Arunachal Pradesh (4) Haryana

PESTHoS® ©dgns IJFo wEHe Ko o°h9o

(1) $gg (B3 (2) »3yo

(3) w&er3S (HTF 4) Sogd
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148. Match the following

List—I List—II
(States) (Boundaries)
(a) Tamil Nadu (i) Maharashtra, Karnataka, Odisha and AP
(b) Tripura (i1) Pakistan, M.P., J & K, Haryana & Rajasthan
(c) Punjab (ii1) Bangladesh, Mizoram
(d) Telangana (iv) Kerala and Karnataka
238D G000
eI >de-I1
(T°F9e0) (38T gowo)
(a) SlForcds (1) HoHPorhg, Eoryvs, @), wo(§ (HTF
(b) (8D (i) 8IS, Hodsg (535, wdory @0k 51’%&5, e orgd Hod a0 c7°a3&;115
(c) Hoerd (ili) orBF, WE*So

(d) SBeworre (iv) B8¢ %0050 Eoryw¥
The correct answer is
ISHCRSIIRSEESLI AN RRY
(a) (b) () (d)
(H av)y i) (i) (1)
2  ® (i) @) (@1v)
(3) (@Gv) (i) (i) (i1)
(CORNC) (i)  (@v) (i)

149. Read the following
(a) Tropical forests are found in Andaman and Nicobar Islands
(b) Monsoon forests are found in Shiwalik Hills and Chotanagpur plateau
(c) Hill forests are found in Southern India and Himalayan region
(d) Tidal forests are found in Central India
Bod (DHWIJ0e0 W bw
(a) &% $0de WEHL WodIrS H0B» Wb dHos® EIyTow
(b) dgrsroR) wdHer 3708 Foder H0n S'er THYE DEFTY (oFos® EAyJron
() S8o wrdETHo H0dW» TIreddh (Foered® g8 (Fod wdHooa)on
(d) oo S8H wdHeo Hogg TS savyow
Which of the above is wrong answer ?
= Léézﬁééém@é“g TS ED
(1) @ 2) () 3) © (4) (@
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150. Assertion (A) : A rapid growth in population has been recorded in census since 1921.
Reason (R) : India’s death rates declined gradually since 1921.
Correct answer is :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true
BB3FES (A) @ 1921 mary BE o DESH $08 PrESTH0S ©8 FHoPod wIcYe
)8 IBr3I6.

800 (R) @ 1921 dod& 8o SSard 88 THoS® Hoderro Téo (Edoom ghod.
DBS DIrerddn
(1) (A) 08050 (R) @ Tods dzo H0050 (A) 8 (R) D000 D58

(2) (A) H00050 (R) @ Bodor Jezo 570 (A) 8 (R) D000 Qe s°¢h
(3) (A) d=o (R) &by
(4) (A) 85y (R) dzo

151. Which of the following regions is first affected by the south-west monsoon ?

(1) Kerala coast (2) Coromandel coast
(3) Himachal Pradesh (4) Bihar

08 HDITO Bdd @ TRY/([@FoTed) KT 0w ?

(1) 38¢ 8o (2) 8*8Ho0sS 8o
(3) WSS (HTF 4) 95386

152. Assertion (A) : West flowing rivers of peninsular India have no deltas.
Reason (R) : These rivers do not carry any alluvial sediments.
Correct answer is :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true
PSS (A) : ¥ 5533§®(Doe5’8 DEBE DY (DIW0B IBveH Byreo BESY
8od (R) @1 & o Jorod 2ol olFarod JrdnBED.
DTS Ddrerddn
(1) (A) %8052 (R) Todko dezo H00050 (A) 8§ (R) 000305 A58 e
(2) (A) 00050 (R) Todk dezo 570 (A) 8 (R) 200300 Qe 5265
(3) (A) dzo 5= (R) 85y
4) (A) &5y 50 (R) Q=20
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153. Match the following

List-I
(a) Banihal pass
(b) Rohtang pass
(c) Niti pass
(d) Nathu La pass

& (800 2 EDHBHSoRD

a1
(a) &S 0
(b) &*&B0h FD
(c) A8 2D
(d) S D
Correct answer is
ISYCISERSESE Ll aLNTel

@ (b (o
(1) @Gv) (i) (i)
2 ©® () (i)
(3) @v) (@) (@)
@ @O (G (Gv)

(d)
(i)
(iv)
(i)
(iii)

https://www.careerswave.in/

List-1T

(1) Jammu & Kashmir
(i) Himachal Pradesh
(ii1) Uttarakhand

(iv) Sikkim

eIl
(1) =0y & 5“'88&5
(i) oSS (HBF
(iii)) sSorpod
(iv) 280

154. Assertion (A) :

Major Industrial regions of India have developed in the immediate hinterland

ports of Kolkata, Mumbai and Chennai.

Reason (R) : The ports provide access to the raw materials available in the hinterlands of
these ports as well as to the world markets.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A)is true but (R) is false
(4) (A)is false but (R) is true

PSS (A) : wéé&g%oé’?’b §Sé__§@"’, Eﬁwoaooo PebYeYout! 53; 8,88 é%@oéa e3H0%H 1%263“
FHE (oo’ ?ﬁ@@*’él)é @"oww Eoaden @é)égéﬁowow

s8odn (R) @ € 4d THoo ¥ PFRE (Frozrod® 0o Hnd HEHod Fodw 8
$o008» (HHoW $rT) Lol T8 wdopHm sI)ow.
(1) (A) $8050 (R) @0 Tods dzo H0050 (A) 8 (R) D000 D58

(2) (A) H00050 (R) @ Bodor dzzo 520 (A) 8 (R) H00T0S Qe s°¢h
(3) (A) Q=0 5 (R) Dy
(4) (A) 85y 570 (R) d=o
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155. Match the following

List—I List—II
(a) Manganese (i) Madhya Pradesh
(b) Nickel (i1)) Odisha
(c) Lead-zinc (ii1)) Rajasthan
(d) Asbestos (iv) Telangana
R RS TeRINGEVY)
Rl | eI
(a) Srordbo (1) Dogg ($3%
(b) 385 (i) 28
(c) 2%bdn-2o08 (iil) o= S
(d) o2HFD (iv) Boome

(a) (b) (©) (d
@ Gi) ) ()
2) (1y) (1.1.1) (.1_1.) (1)
3 O (i) (i) (iv)
4) (@) (i1) (ii1) (1)

156. Which one of the following is/are primary economic activity/activities ?

(a) Transport (b) Communications (¢) Mining (d) Farming
Correct answer is
(1) (c)and (d) (2) (b), (c)and (d)
(3) (b)and (c) (4) (a)only
Bod TS DO HrdD (G0 @gé s*dgSorare SE8KB8 To&od?
(a) Saees (b) EorgdTA Ly (¢) Hdoo (Edg€o  (d) HgHJraso0
DTS dIrgrdo
(1) (c) Ho8030 (d) (2) (b), (c) S08030 (d)
(3) (b) %0005 (c) 4) (a) drEDo
157. Which of the following are the chief sources of hard wood timber ?
(a) Broad leaved evergreen forests (b) Broad leaved deciduous forests
(c) Evergreen coniferous forests (d) Needle leaf deciduous forests
Answer is
(1) (a)and(c) (2) (a), (b)and (c)
(3) (a)and (b) (4) (a), (b), (¢) and (d)

(Bod adS® T o0& (dgrdom HE Sod oohd?

(a) V&8 wHeo o VSEHT0E wdHo

(b) Bher8 sHo fo %oy wdHod

() JESL0E FyomrsrdYy edHoo

(d) 500 3o v5°08Y) vHoo fo wHord ) wdHeo
DT e

(1) (a) %2005 (c) (2) (a), (b) $:605% (c)
(3) (a) %2005 (b) 4) (a), (b), (c) $2005% (d)
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158. Consider the following crops

(a) Cotton (b) Groundnut (c) Rice (d) Wheat
Which of the above are Kharif crops ?
(1) (a)and(b) (2) (b)and (c)
(3) (a), (b)and (c) (4) (b), (c)and (d)
(Bod Hovods HBBO0BBN
(a) ©38 (b) F&¥5d (c) Dasogo (d) A oo
D ES® 2D 965 Doved
(1) (a) $26050 (b) (2) (b) L0605 (c)
(3) (a), (b) L0005 (c) (4) (b), (c) $08050 (d)
159. Which one of the following shipyards makes warships for Indian Navy ?
(1) Vishakhapatnam shipyard (2) Kochin shipyard
(3) Mazagaon shipyard (4) Paradeep shipyard
88 I 5ol eeI8 5O g FPEol AT B J°s°F0%0
(1) dzrpdoen Iso(Foo (2) A Is(Fo%0
(3) Sommrsd I°se(f0s0 (4) 86 s ($%0

160. Who among the following tribes live in the Union Territory of Andaman and Nicobar Islands ?

(1) Apatani (2) Munda (3) Santhal (4) Jarawa
(Bo& BBIYD  Sew Bo(¥ ;O (@FodFd ©odHr-I5° Fod® JHDTE?
(1) ooz (2) Ho0dk 3) Dosgd (4) w=oeoe

161. Which of the following is not an objective of Swachha Bharat Mission ?

(1) Hygiene (2)  Waste management (3) Sanitation (4) Beautification
(8od BS* I8 DgBY IS WS 0 go 52K
(D) @6’565 SE e (2) $g8 g e 3) Fohgo (4) %o088%00%d0

162. Read the following statements
(a) Infant mortality means the death of a child less than one year of age.
(b) ]Ianlftaﬁlt mortality is the number of deaths of children under one year of age per 1000 live
irths.

(¢c) Poverty of the family is the only factor, that contributes to infant mortality.

Which of the above statements is/are correct ?

(1) (a)and (c) (2) (b)and(c) (3) (a)and(b) (4) (a),(b)and (c)
B0& (HHBIE00 SHHE0

(a) % Hodewror wdmr vodE S0 YrosHoars 3HY) wdBotdo

(b) 1000 zdsrod® fooéégdoeﬁg@ ST oS PYo Dowg wprdonr 3H Ldero Dopgdo
SSICRCRRESj{eN)

() %oo &880 w8 T 3%H HdwredHh s°Emo

D (DB SIB00S® J6/2D Jxo?

(1) (a) %2805 (¢) (2) (b) %2805» ()
(3) (a) %2805 (b) (4) (a), (b) %2805 (¢)
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163. Match the following
List-I
(a) Golden Fibre Revolution
Eb) Gray Revolution
¢) Pink Revolution
(d) Black Revolution
B SEDHBHBX0
eI
(@) omd D% Hdo
(b) &S Joi dvdo
() dowrd JoMh QDo
(d) Seod 9do
(@ () (© (@

O DR
3) (i v i

1 1 (i)
(4) (v) (i) (@[ ()

A

List-11
i) Fertilizer
i1) Onion

ii1) Petroleum products
iv) Jute production

eI
(1) Ao
(il) &Qarcdoen
(iii) (&*O0%0 & ySien
(iv) 2% sENE

164. Match the following
List-I
(a) Zamindari system
(b) Drain of wealth
(c) Mahalwari system
(d) Rythwari system
2 DBBHdw
eI
(a) 2oTd JEedHw
(b) (dardrom Fdo FPHE0
(c) X0 Sad DE 8
(d) Begd X)cg &
@ © O
(1) iy (v) () (D)
() @) (@) - (@1v)
(3) (v) (i) (i) (D)
(4) (i) (@v) (@) ()

List-11
(1) William Bentinck
i1) Thomas Munro
ii1) Lord Cornwallis
iv) Dadabhai Naoroji

eIl
(1) JOR> Boe3s
(i) %o H&
(iii) or§ 526 O
(iv) crorgron 3°6°e

165. Consider the following statements about key features of ‘100 Smart City’ project

(a) Automatic traffic signals
(b) Better public transport facility

(c) Face identification system to catch criminals
Which of the above statements is/are correct ?
(1) (a)only

(3) (a)and (b) only

B0 (DB HOBD0BoHD

100 wos S dore’ (a§ Sngg o oo

(a) ©gosoo SO (&rHE Jd%o(Be FOA Godwo

(b) &5 (Herdarn JEorgoroddo

(c) S0y 80T o {00 HHHSy EOA wodwo
D (DITII00S® O/ Jeo?
(1) (a) d-(&o

(3) (a) H0005%2 (b) B (&0

(2) (a), (b)and (c)
(4) (b)and (c) only

2) (a), (b) %2805 (c)
(4) (b) %5605 (c) Ho (&>
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(a) The first hour of every parliament day is reserved for questions

166. Read the following statements

(b) Zero hour is a typical Indian innovation in the field of parliamentary practice
(¢) Judicial control over administrative acts stem from natural law

The correct answer is/are

(1) (a)is correct, (b) and (¢) are wrong

(2) All(a), (b) and (c) are correct

(3) All(a), (b) and (c) are wrong

(4) (a)and (c) are wrong and (b) is correct

(Bod (HDHWSLoe Wekspdw

(@) (98 8% rIdTood TodE Hod DHoko (DT gEdwe E°YLH Swronow &od
(b) >ERoowd Fodrrdreod® rEdTY Jogn edhdn drsg dob’ (£6° wdb)
(€) 5°8gREgwrE WIgo D I°gas Vao(Eem VT e F°gOs0 0d HWIBH
ISHSESIRSESSLIARMSRIRY

(1) (a) dzo 5°Q (b) H20605» (¢) @0 SHy

(2) (a), (b) L0060%xn (c) @0 e—sfbl Qo

(3) (a), (b) H280%x (c) @ &95‘1 EDy

(4) (a) H0052 (c) @ Dy 05w (b) dezo

167. Supreme Court of India enjoys the power of ‘Judicial Review’, which means the power to
(a) Review the judgements of State High Courts
(b) Review the functioning of the Council of Ministers
(¢c) Advise the President of India
(d) Decide the constitutionality of an Act passed by the legislature and order of the executive
Correct answer is
(1) (a)and (b) (2) (b)and (c) (3) (d)only (4) (c)and (d)
8 Bo(w0 §°F ‘Trgod DWE 96570y EOH $0b. g Vg edHm

(@) o°R9 JrEGe 88 yod DAPotdo

(b) $50(8%008O VoD D oFEo

(€) 2788 0P 9D88 VoHt adgdo

(d) =03 79 &BrooWS Igren, 5°EZAT YT E T ST orezegod %Sézéo Vgonotad
ISNSESERCRRLIALPVRILY

(1) (a) $06030 (b) (2) (b) %8030 (c) (3) (d) Sor(&EHo (4) (c) 00052 (d)
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168. Which of the following pairs is correctly matched ?

(a) ADM Jabalpur Case :  Rights of Citizens under Emergency
(b) Vishaka Case : Centre State Relations

(¢) Indira Sawhney Case : Rights of Women at work

(d) Kartar Singh Case  :  Rights of Minorities

(Bod odS® HTI @ A2

(@) 2.8.08. = SHrb o2 g 50 D odgddd Kaé?g@ DHODD $H00S® ;Y Ty e
(b) Dy sragdn . So(& o°@9 Do ogren

() mobo> DHED TregHm DB (TH0S® Ko Fo o) oo

(d) 8028 Doh aregdw : @m@c‘ﬁ@ [SASYRCS

Correct answer is
DTS Ddrrddn
1) (@ (2) () (3) © 4 (d)

169. Consider the following statements

(a) The First National Commission for Scheduled Castes and Scheduled Tribes was constituted
in the year 1992

(b) First National Commission for Scheduled Castes and Scheduled Tribes was constituted
under 65" Constitutional Amendment Act

(c) C.H. Hanumanthappa was the chairman of the First National Commission for Scheduled
Castes and Scheduled Tribes

Which of the statements given above are correct ?

(1) (a)and (b) (2) (b)and(c) (3) (a)and (c) (4) (a), (b)and (c)
(Bod (DIVJSd0en H0BO0Bobw

(2) B0 o RErGS Horor HOB» RErgS SHo NS 1992 éoéégdé@oé’s
DO"’Q(.‘;JJ Bo% &0d

(b) 658 orergod DITe @rgoe B & 0% RNErgS Horo H0BN wdrgd Bdo
NS doeydo Bok &od

(€) er80% Tdrgd Horo HOBH WErgd Bheo LHUS IndE BES 2. WS.

széozéooéég
29 a@gé 6326‘85262633@&3’8 YA ISR
(1) (a) $0005% (b) (2) (b) H080%20 (¢)
(3) (a) L0605 (c) (4) (a), (b) S280%» (c)
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Proclamation of ‘State Emergency’ under Art. 356 can continue beyond one year if

(a) The High Court of the State certifies that the situation in the State is very serious.

(b) The Governor of the State certifies that law and order situation is not under control.

(¢) The Election Commission certifies that it is difficult to hold elections to the Assembly.

(d) The President is satisfied about the grave situation in the State through independent

170. Consider the following statements

investigation.
Which of the above statements is/are correct ?
(1) (a)only (2) (b)and(c) (3) (c)only (4) (a)and(d)

(Bod (DHTJDdwen $H0800BH0

‘©08S 3567 (H5°80 a8 0°% 908 wdHDY H8PBI 28 HoHETH0 LoD IR0

(a) & o"R90s® DD 0P ST © TR Zr8°6 DG 0BHTH

(b) T%joef F°08 (S0 9SS’ TH d58y8 Dg*éo%é@:éo

(c) o U"fggoé% @?oo@ Ao AFgTroBEo ER B DV Fo Dopoo éOcqr’GOzSéBzéo

(d) D380 HOFES T°go° Bew0E™, 79 90S” BHHODEIW ETII T 00D TR 9D
Bodyh BoEBEBD |

D (DB SI3d00s® D6/2D Jeo?
1) (a) 37&o Q) (b) %9605 (c)
3) (c) 3rEo @) (a) o005 (d)

171. Read the following . o~ ) ) )
Afnﬁember of'a House belonging to any political party shall be disqualified from being a Member
of House.

(a) Ifheis expelled from the party.

(b) If he has voluntarily given up his membership of such political party.

(c) Ifhe votes or abstains from voting against the whip of the political party to which he belongs.
Which of the above statements is/are correct ?

(1) (a)and (b) (2) (b)and (c)

(3) (), (b) and (c) (4) (a)only

Bod (HHWSd0en Wehpwhw

o8 oce8od @°§ § Tohd 7705 Dahgdy (od fo@i’géo@é’s E3 TS DPgE g8 wddacko
@B E.

(a) S5 FQ H08 RS DHTID P&

(b) &5 > dg¥yodomr SO DEID

(€) 8% 3§ wbT2I DB $gdTLom T03 HPS® Len Fvdvypd Sor Agwd

®O0NSD ko
D (DITII00S® QO/AD Je2o?
(1) (a) $0803» (b) (2) (b) 008030 (¢)
(3) (a), (b) L0005 (c) 4) (a) dr-ED
IS 2016 A 48 G

https://www.careerswave.in/



https://www.careerswave.in/

A

172. Assertion (A) : The Parliament is empowered to alter the boundaries of any existing State of India.

Reason (R) : Abill pertaining to the alteration of the boundaries of any State can be introduced
only in Rajya Sabha.

Answer :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct and (R) is not correct

(4) (A) is not correct and (R) is correct

BaFSH (A) : THoS® &8S® o orR9 VOB oI éﬁéa ¥ 0 FPFRoOH
e ddo.

o0 (R) @ 09 20 Grod STy Dol BHeo orag IFS'T (DT DB T,
Ddrprdo

(1) (A) $805% (R) @ Todo Jdezo 0050 (A) 8 (R) H80308 D& ed

(2) (A) H00050 (R) e Bodor dzzo 570 (A) 8 (R) 000300 Q88 5°¢h

(3) (A) Q=zo (R) &by

(4) (A) 85y (R) d=o0

173. Read the following
(a) The provision of All India Services are explicitly stated in the Constitution of India.
(b) The provision of National Development Council is not stated in the Constitution of India.
(c) Stamp Duty is levied by the Union, but collected and appropriated by the States.
The correct answer is
(1) (a) and (c) are correct but (b) is wrong
(2) (a), (b) and (c) are correct
(3) (a)and (c) are wrong but (b) is correct
(4) (a)and (b) are correct but (c) is wrong

Bod (DdLTrel Kl

(a) ©do ey foésfoo@ D oFden I wwgo?ﬂoé’s dyaom '%aé“"zra"gvdo

(b) w@oﬁr@:ﬁg% $08D (XS rdE orargofod® Tk

(€) FoD drg8d Bo(Eo VGH08, TPF9Ies TG H1Hres THED DIT/A0SE* HEo)
DTV war 0

(1) (a) 0050 (¢) dz=o 57 (b) Sy

(2) (a), (b) 0003 () @ Jde2o

(3) (a) $2005» (c) @0 By 570 (b) ady

(4) (a) 20052 (b) @ 2dy 570 (¢) Dy

174. Conventional energy source is

(a) Solar energy (b) Wind power (c) Bio-gas (d) Nuclear power
PO(DIPAH R0E0 DI wrdln
(a) drdg 48 (b) %5 48 () Wr-oegd (d) weo $8
1 (a) 2) (b) 3) © 4 (d)
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175. Who among the following Presidents of India was associated with the Trade Union Movement in

India ?

(1) V.V.Giri (2) N. Sanjeeva Reddy
(3) Zakir Hussain (4) R. Venkatraman
8 U"éljééoeé% s"égé 6655253“’@55 D0 oo Bozed

(1) 2.29. ad (2) AS. b0k TS
(3) DG TS (4) ©6. TogLordod

176. Find out the wrong pair concerned with Burgula Ramakrishna Rao Ministry in 1952.
(1) Mehdi Nawaz Jung — Public Health and Public Works
(2) M. Chenna Reddy — Agriculture and Planning
(3) Digambar Rao Bindu — Home
(4) Shanker Dev — Education and Village Development

1952 &° 569&26 8o TnE)Rrory) H0(@ HEHNIH Bo 05V DO I @ A6?
(1) w0 S woh — (Derdiigdon, (Derddoo

(2) Qo. Vo) TE — HgHI"adoHn H0 B0 (Hear®E

(3) &do Bord) Dok — wodIohE HgdhLPorew

(4) 4086 TS — D& Ho005» (e 0D

177. Name the leader, who presided over ‘Telugu Bhasha Samithi’ meeting in July 1955 and asserted
that “Culturally Vishalandra was already a reality”.

(1) Konda Venkat Ranga Reddy (2) Burgula Ramakrishna Rao
(3) Madapati Hanumanth Rao (4) Mandumula Narsing Rao

1955 =8 $050S® 20AD Bani erar P VIrTT8 &9(‘555;5 ISEMAISV “ﬁ"o‘cﬁa_ggéow’
DFero(F w8 rddm adBE HerFod.” @ Fgergdodod.

(1) §ow Bogd Som TE (2) o cEyrorD)
(3) Srdare Trdodoodord) (4) Hoododne S8yororD

178. To oppose Sanjeeva Reddy ministry in 1963 who said “Andhra Government, seem to be a
Government of the Reddys, for the Reddys and by the Reddys” ?

(1) T.N. Sadalakshmi (2) Konda Laxman Bapuji

(3) S.Nagappa (4) K. Rajamallu

1963 &° D8BS DoLHTE (Hehdgdmds Hg8TEL: “wo(g (HehSgsm, Tho (dghdgum,
Tho 5% 000 TEOTH e agargloDod

(1) &8.93. foc:f’@é& (2) Som of & wrd
(3) 0. AD) (4) 3. ccedoon
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179. Before the States Re-organisation Commission many leaders expressed the opinion that the merger
of an advanced region like Andhra with a backward region Hyderabad State would lead to
(1) Backwardness (2) Development
(3) Disintegration (4) Internal colonisation

arge PHI6 JFaed EWAS Hwok Tror Hod TPeHHeo Tey 2DYH WD (HSEH
D)0 Tood woFerod [@odos” TWwE ¢ (osHd rdorwrd orRgdndy ORI
©d ®odomr HI8 T SBWIY grAoNd.”

(1) Bdo¥eren 350 (2) ©9)8
(3) DY )08 (4) @088 H0dH

180. Which one of the following statements is not correct ?

(1) According to Gentlemen agreement, future recruitment to services will be on the basis of
population from both sides.

(2) G.O. 610 was issued to rectify the lapses in implementing the Presidential order and injustice
meted out to Telangana people.

(3) According to the Gentlemen agreement the Cabinet will consist of members in proportion
of 50 : 50 for Andhra and Telangana respectively.

(4) In 1953 the Government of India constituted State Re-organisation Commission under the
Chairmanship of Justice Fazal Ali.

&3 808 (HHIIwoS® & $TIS 5267

(1) D Hodotwe 2dyoddn ([HSSHn FIhgehe® 28dS°Th Jdrisod) aoyr
(EHOET wdoiozromn.

(2) 2.4. T0. 610 o JFSo TN0H 0rR 908 e g ©Hoees® 8ol FEaredo
D00 SBoomrn (Do @hEdd) @msoﬁoéooe)zéo Dardow QD& 5.

(3) & 30RO 2HHodHN (H5TYH 7R Y 5“’5?",)5&5@5‘5 8l (Foerwd wo(F-8omn
(Frozre 08 $o0(@ DSHoo 50 : 50 JHHBS® sowed.

(4) 1953 &° 88 (Dyhdgdn aRd pud ©d JL)dgos® crhodwe PIT Fed
EH 8D %0 N0s.

181. Who was the editor of Telugu version of ‘Meezan’ newspaper ?

(1) Madiraju Koteshwar Rao (2) Dasharati Rangacharya
(3) Devulapally Ramanuja Rao (4) Adavi Bapi Raju
el DB Benih (HB8 DB A@LET s0&d?
(1) srooccw §846 oo (2) =488 Sommdogen
(3) TBHOVO crdrdeod) (4) ©3d wrdocee

IS 2016 A 51 G

https://www.careerswave.in/



https://www.careerswave.in/

A

182. Match the following

List-1 List-11

(a) Leader (i) Mamidi Ramakanth Rao
(b) Jai Telangana (i) Munir Jamal
(¢) Tenugu Vani (iii) P.Janardan Reddy
(d) Telugu Gadda (iv) S.Satyanarayana
S5 (800 U0 wEDHBHW

R | eIl
(a) %6 (1) SrDd drscodory)
(b) B Sworrs (i) 0086 2dHrS
(c) 8dotfs &°e3 (i) ®. ==rgS B
(d) Seods o (iv) 9. dEgaroradom

@@ (b (© (@
(D) @Gy @Gv) 3> @3)
2 Gy @ (@v) (i)
() @Gy (@) (Gv) @)
(4 @) @) @@ (@[v)

183. As a part of the Economic reforms and on the recommendations of World Bank, the then
Andhra Pradesh Government divided Andhra Pradesh Electricity Board into
(1) Generation, Transmission and Construction
(2) Generation, Transmission and Distribution
(3) Hydel Power, Solar Power and Thermal Power
(4) Distribution, Construction and Transmission

@8§ @ocozrcﬁsaaﬁaaei% grronmr 0w (D90 aﬁgoéa LrddedH odrhoonr e—m;&’ ©0(&
L@Tﬁ% o°R9 (Debdgo vy Qdagzﬁgé zS*’CSoba Dy Hopenm DFRoNod.

(1) &&38, SEHo° L0080 Vom0

(2) &EN8, DIHoe H28Bw Do

(3) =o ABgE, Ford VBgLy H08N L6 Dogdy
(4) DoRed, doryewo BB DIHo

184. Which one of the following statements is not correct regarding 1969 Telangana movement ?
(1) Telangana people questioned the idea of Linguistic State : A.B. Vajpayee
(2) Telangana people will not accept less than Regional Autonomy : C.C. Desai

(3) Prime Minister should consult Telangana Prajasamithi leaders before anouncement of any
statement in Parliament : K. Manoharan

(4) Prime Minister should take political solution to the Telangana movement : K.L. Gupta
1969 Soomren &dgnindtd Do 0bow & (Sob @éﬁéé&o@& NI DOOPIL 5°¢%

(1) S8womres L@ea@o ey (DO5nE 07 9d0e rHId (BB)oWI S ¢ A.B. ar@aron.

(2) Soorre (Heeo L@i’o@oﬁa 050590 DTTARE (HBDB S0TW S5 O (DB, EID ©0HE00BS:
C.C. Barowm.

(3) FEB0S® Boomn D (HFHH00(8 O (HELID TS $0od Boomrn (Herbdn
05 Er0 %0 @o@éo&?@ K. S8 8s.

4) Loamzézéoo@’é Boomn wdgHdNIE ores 8 050 DOy FHdo §<‘So§’sz}_éoo:$oa<‘60 :
K.L. fizar
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185. Match the following

List-1 List-1T
(a) Porakala Dora (i) Shanigaram Venkateshwarlu
(b) Whiteman (i) Dasari Laxmikantham
(c) Sahu (iii) Muppala Laxman Rao
(d) Ganapati (iv) Ekkaladevi Sambashiva Rao
S8 (800 TP BN Coosw
a1 Al B
(a) o &Y (1) 4360 30§'@3r‘§$§o
(b) IESrgS (i) ©%d @éés*’oéo
(c) oo (iif) S0 y¥ 06 oo
(d) S0bd (iv) 28 0T JFo FHoeH

@ b © @
(H Gy Gv) (@O (i)
2 ) ®H (@Gv) (i)
G) O aG) 3i)  Gv)
4) (v) @G (@ (i)

186. Match the following

List-1 List-11
(a) Hiten Bayya Committee (i)  Salaries and pensions of the Government Employees
(b) Gangopadyaya Committee (i)  Electricity
(¢) Koneru Ramakrishna Rao Committee (iii) Public Sector Industries
(d) Subramaniyam Committee (iv) Higher Education
& 1808 UL wSEDHGHWokw
EaAlea | eIl
(a) W8S  dSorg e (1) dS)oew @5858130 LIPS gdne, Powdd
(b) HoA*grgass Ee (i) Dogsy 8
(c) 83 orHEyarorR) Eoel (i) (DEg Jod foofg@o
(d) Qo osmgo Enes (iv) w8 ddg

@ @® © (@
M @ @) (@Gv) (D)
(2) @) @) ) (@)
G) @) @) (Gv) (i)
(4) @) (Gv) @) (1)
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List-1
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A

List-1I

(a) Jai Bolo Telangana (1) Shanker
(b) Shadow lines (i) Prem Kumar Aman
(c) Still seeking justice (i11) K. Chandrasheker Rao
(d) Nyayam Kosam Telangana Nirikshana (iv) Osmania University Forum for Telangana
S8 (800 @A w2SBDNLoodw
et ALl | a1
(a) 2 &°¢° Boorn (i) %0&8
(b) & B3) (i) (Do %6 @S
(c) RS 28oA 2Rd (iil) 3. So$BE o)
(d) srgosoo §8%o-Boomsn J6Ee (1v) &QryQ05r 05rrdH0 38 P*60 HE Boomrn
@@ b (© (@
(H @O @) (Gv) ()
2 O G @) (@{v)
3 @O aGv) (@) (i)
@ ) @ (@Gv) (i)
188. Match the following
List-I List-11
(a) V. Prakash (i) Telangana Janasabha
(b) Bhoopathi Krishnamurthy (i) Telangana Mukti Morcha
(c) Muralidhar Deshpande (i1i) Telangana Mahasabha
(d) Akula Bhumaiah (iv) Telangana Prajasamithi
Ss (800 FrE BEDHSHWD0
A | eIl
(@) . (dsc@ (1) Boomrs @d e
(b) Frde Eyhdard (i) Boomren H§ Ird)
(c) $089586 TFT>rod (ill) Sowomre HoE8deY
(d) o%Ho grdadg (1Iv) Sowormren (De DL
@@ b (© (@
() Gv) @Gy @) (i)
(2 @Gy Gv) @) @)
() ai) @Gv) (1) @)
4 (@(v) (@) (@) @)
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189. The Government of India appointed a committee under the Chairmanship of A.K. Anthony
to look into the issues concerning the proposed division of Andhra Pradesh State and to
workout the modalities related to the division. The members of the committee are

(1) Digvijaya Singh, Ahmed Patel and Mallikarjuna Kharge

(2) Digvijaya Singh, Veerappa Moily and Gulam Nabi Azad

(3) Digvijaya Singh, Veerappa Moily and Ahmed Patel

(4) Digvijaya Singh, Ahmed Patel and P. Chidambaram

©o(§ (PTF 0°Ry IFad rgoe wE I HoTIhg DHDgeds HOHSTE VD ¢
DO FHNIE Sy dorsdew aﬁa VB0 rdd (Dghdgo AK. YY) ©EgEED
2.8 18 DooVod. & EMNWGSED Sfogen

(1) 6hgadi 2of, o8 HES H0050 Hoerdod 3
(2) odhgmdd oh, 3)(‘5%39333033@ D288 Howrodd) werd
(3) &hgedd Doh, bdéa&oow@ $00050 ©T) 8 HES
(4) 6hgud 2oh, ©ry8 DTS Hr0dsn Do Yo

190. Match the following

List—I List—II
(a) Metpally (i) Bronze works
(b) Pembarthi (i1) Khadi
(c) Gadwal (iii)) Bangles
(d) Hyderabad (iv) Handloom Sarees
S (800 B =BVLoWod0

ko | eIl

(a) LD (1) 186 b
(b) o o (i) &
(c) dorgen (i11) nrereo
(d) ZrSocerd (iv) SF8 DSen

(a) (b) (c) (d)
() (i) @ Gy (i)
2 Gv) (D) @) (i)
G O G G (@v)
4 G Gv) (D) )
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191. The limited safeguards of employment under mulki would remain in operation in the Telangana
Region upto the end of December 1980. In the case of Hyderabad and Secunderabad these

safeguards would continue only upto the end of December 1977. According to
(1) Six Point Formula (2) Eight Point Formula
(3) All Party Accord (4) Five Point Formula

C—stSi’S?i SoKfos® Boomren oz 8 X)JJ@Z_ SrHod® EOyo% ¢ BEeaen 1980 &0 & Lo
DHO HEH wHeS® Gotron. 520 WrETrers KON Do erd @ob HKSLINOS® HrEdw
@ 1977 &0 § HrHo DHD HEH JrE woond® sowron 9 SOD Do

(1) &8 drere dEEo (2) oh drg dP¥o

(3) vdo DE =wd)odo (4) Doxdr (g DE¥o

192. Which one of the statements is not correct ?
(1) Article 371-‘D’ facilitated for the Zonal system in Andhra Pradesh.

(2) Jayabharat Reddy Committee was appointed in 1984 to enquire into the irregularities under

the six point formula and Presidential order.
(3) Kamalanathan and Umapathi Rao were the members in the officers committee.

(4) Abdul Khadar, a senior 1.A.S. officer was appointed in 1985 to scruitinize the officers

committee report.
& (800 TEgEned® 2B DOTHIO 5%

(1) ©08S 371 ‘& (Hs°8d» wo(§ (DBFS® &°3S HgBY :DO"’(D(":)J ©@oN0d
® ®
(2) «8 dor(zro DEEo D0 PR INS GE g0 GYOPIII I TAb0eE eo(
(53% (DeoEgdn 2ofzrds T E0¢5 19846 D05woDod
(3) EHoTES B0dBH sITrH8Her ©POEY ENE S vabge
(4) 908y 18 20000 ITOEL DORO0BIVE 19858° o of g°i8 el wJE
0.0.00 @50 Jd%oW T
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193. Match the following

(a)

(b)
(©)
(d)

List-1
My Telugu Roots : Telangana
State demand — A Bhasmasura wish
Battleground of Telangana
The fall and rise of Telangana

Telangana—United Andhra Illusions

S8 (808 FrE wSEDHSWD0

(a)

(b)
(c)
(d)

(1)
2)
)
4)

eI
0 B Srdy : Boomrs Q&
dBr0b-ad FIyd da
g (FPo0& ©f Bwome
& S vwob TW ©p Sworn
BoOoMrn-BNIBE @o(¢ augeE)
(@ (b () (d
(iv) (i) (@{) (i)
@ @Gy ) (i)
1) (@v) (@) (i)
(iv) (@) @) (@G)

List-11
(1) Nalamotu Chakravarthy

(i) Gautham Pingali
(ii1) Venugopal
(iv) Kingshuk Nag

R Ak | |
(1) So3rdh L EH0

(i) dT°Eo Dod®
(iii) Seof*rS
(iv) 8ohwE oA

194. Arrange the following statements in a chronological order

(a)
(b)
(©)
(d)

Declaration of K.Chandrashekar Rao Fast unto death.

Telangana March to Necklace Road.

Prof. M. Kodand Ram was nominated as convenor for Joint Action Committee (JAC).

Suspension of Telugu Desham Party from Joint Action Committee.

Ss (808 a8 (Edorieomr @éaéﬁgoc%
3. Fo(BFE ord) wHdn ITTEEE (HELD

(a)
(b)
(c)
(d)
(1)

)

3E0 §°6 8 Boorrs 58

(&, §Sokoro ool wES g (JAC) 3’538265(? Q0350508 K20
20008 BES ENG HHod Beok BHo r§ RS

(a), (d), (b), (¢)
(b), (@), (d), (¢)

2) (a),(c), (b), (d)
) (@),(),(d),(b)
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195. Match the following

(2)
(b)
(©)
(d)

(2)
(b)
(c)
(d)

(1)
2)
)
(4)

List-1

Goreti Venkanna

Nandini Sidha Reddy

Guda Anjaiah

Gummadi Vittal Rao
& (800 AL BEHBHW

ERP AR |
A*TE Bo&S)y
089 Do TG
febatel @oaaoﬁog

H$98 S 0"

@ O (©
@ Gv) (i)
(i) (iv) (D)
(ivy @ (@)
(i) (i) ()

(d)
(i)
(i)
(iii)
(iv)

https://www.careerswave.in/

List-11
(i) Ayyoniva Nuvu Avvoniva
(1) Amma Telanganama.....
(iii) Palle Kanneeru Pedu Thondhi
(iv) “Nageti Sallalo Na Telangana.....

EREVER | |

() ©0Wrgdd Ry @555{025
(i) odry Svomraddr,..
(ili) 98 83 8 w%&0d
(iv) “>ne @"@;569@% o Boomrs...

196. Match the following

(a)
(b)
(©)
(d)

List-I
Dimsa
Adrak ke Punje
Perini Dance
Pittala Dora

S8 (808 &P 2SBDNEodw

(a)
(b)
(c)
(d)

(1)
2)
)
(4)

Rt Al |
QR0
3§ B Do&
EEEAEN
Pho &8
(@ (b (o
(i1) (1) (i)
1 @) ()
() @O (1)
@iv) (i) ()

(d)
(iv)
(iv)
(iv)
(ii)

List-I1
(i) Babban Khan
(i) Gonds
(ii1) Fastest dance form

(iv) Budiga Jangalu

eI

@ NSRS

(i) A*oddoen

(iii) SEL0EZos Sysghn
(iv) o&¥ eonren
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197. Match the following

(a)
(b)
(©)
(d)

List-1
Ramlingeshwara Temple
Erakeshwara Temple
Sita Ramaswamy Temple

Venugopalaswamy Temple

Ss (808 FrEQ 2SEDHBWD0

(2)
(b)
(c)
(d)

(1)
2)
)
4)

a1

Téo@oﬁ"ésd @O 000
Qdé%gd @000
%o@“méoé*’(gé’)o QOO0
B FoIIN o080

@ & © @
(v) (i) (@) (i)
(i) @) () ()
(v) Gi) () (i)
@ (i) () o (v)

https://www.careerswave.in/

List-11

(1) Dichipalli

(i) Kondaparthi
(iii) Pillalamarri
(iv) Nandikandi

da-11
(i) &259
(i1) §°0&Do
(ii1) D0
(iv) Sob&0d

198. Match the following

(a)
(b)
(©)
(d)

List-1
Mannemkonda Jatara
Durajpally Jatara
Siddulagutta Jatara

Singaraya Jatara

& (800 TB wEHEEHI®

(a)
(b)
(c)
(d)

(1)
2)
3)
4)

Rt At |
éoBlo?oé EsataYet
B$oEDY rEY
?ocoﬁo@(‘iocg Fala el
Voo g

@ b (© (@
() (i) @) (@v)
(i) @Gv) () Q)
(iv) () @) (@)
(i @) (@v) (i)

List-11
(i) Laxmi Narasihma Swamy
(i) Siddeshwara Swamy
(iii) Anjaneya Swamy

(iv) Lingamanthula Swamy

e 11
(1) @ég SELOT I g
(i1) %é%gé@?sm
(ii1) @oaﬁoﬁob?séb
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199. Match the following

List-1 List-I1T
(a) 9" month of Islamic calendar (i) Prophet Mohmmad’s birthday
(b) Moharram (i1) Bakrid
(c) 10th day of 12th month of Islamic calendar (iii) Ramjan
(d) Milad-un-Nabi (iv) Shiyas
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200. Which of the following is not correctly matched ?
(1) Lambadi Hakkula Porata Samithi — Bellaiah Naik
(2) Gouda Jana Hakkula Porata Samithi — Elkakatte Vijayakumar Goud
(3) Vaddera Hakkula Porata Samithi — Dubbagatla Narsing Rao
(4) Chakali Hakkula Porata Samithi — Poosapally Saidulu
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